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CHAPTER 1

The Financial Ratio Analysis
(Part 1)

9.1 - Anote on Financial Ratios

Over the last few chapters we have understood how to read the financial statements. We will now
focus our attention on analyzing these financial statements. The best way to analyze the financial
statements is by studying the ‘Financial Ratios’. The theory of financial ratios was made popular
by Benjamin Graham, who is popularly known as the father of fundamental analysis. Financial ra-
tios help in interpreting the results, and allows comparison with previous years and other compa-
nies in the same industry.

A typical financial ratio utilizes data from the financial statement to compute its value. Before we
start understanding the financial ratios, we need to be aware of certain attributes of the financial
ratios.

On its own merit, the financial ratio of a company conveys very little information. For instance,
assume Ultratech Cements Limited has a profit margin of 15%, how useful do you think this infor-
mation is? Well, not much really. 15% profit margin is good, but how would | know if it is the best?

However, assume you figure out ACC Cement’s profit margin is 12%. Now, as we comparing two
similar companies, comparing the profitability makes sense. Clearly, Ultratech Cements Limited
seems to be a more profitable company between the two. The point that | am trying to drive
across is that more often than not, Financial Ratios on its own is quite mute. The ratio makes
sense only when you compare the ratio with another company of a similar size or when you look
into the trend of the financial ratio. This means that once the ratio is computed the ratio has to be
analyzed (either by comparison or tracking the ratio’s historical trend) to get the best possible in-
ference.

Also, here is something that you need to be aware off while computing ratios. Accounting policies
may vary across companies and across different financial years. A fundamental analyst should be
cognizant of this fact and should adjust the data accordingly, before computing the financial ra-
tio.
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9.2 - The Financial Ratios

Financial ratios can be ‘somewhat loosely’ classified into different categories, namely -

1. Profitability Ratios
2. Leverage Ratios
3. Valuation Ratios

4. Operating Ratios

The Profitability ratios help the analyst measure the profitability of the company. The ratios
convey how well the company is able to perform in terms of generating profits. Profitability of
a company also signals the competitiveness of the management. As the profits are needed for
business expansion and to pay dividends to its shareholders a company’s profitability is an im-
portant consideration for the shareholders.

The Leverage ratios also referred to as solvency ratios/ gearing ratios measures the com-
pany’s ability (in the long term) to sustain its day to day operations. Leverage ratios measure
the extent to which the company uses the debt to finance growth. Remember for the company
to sustain its operations, it has to pay its bills and obligations. Solvency ratios help us under-
stand the company’s long term sustainability, keeping its obligation in perspective.
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The Valuation ratios compare the stock price of the company with either the profitability of the
company or the overall value of company to get a sense of how cheap or expensive the stock is
trading. Thus this ratio helps us in analyzing whether the current share price of the company is
perceived as high or low. In simpler words, the valuation ratio compares the cost of a security
with the perks of owning the stock.

The Operating Ratios, also called the ‘Activity Ratios’ measures the efficiency at which a busi-
ness can convert its assets (both current and non current) into revenues. This ratio helps us under-
stand how efficient the management of the company is. For this reason, Operating Ratios are
sometimes called the ‘Management Ratios’.

Strictly speaking, ratios (irrespective of the category it belongs to) convey a certain message, usu-
ally related to the financial position of the company. For example, ‘Profitability Ratio’ can convey
the efficiency of the company, which is usually measured by computing the ‘Operating Ratio’. Be-
cause of such overlaps, it is difficult to classify these ratios. Hence the ratios are ‘somewhat
loosely’ classified.
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9.3 - The Profitability Ratios

We will look into the following ratios under ‘The Profitability Ratio’:

1. EBITDA Margin (Operating Profit Margin)
« EBITDA Growth (CAGR)

2, PAT Margin
« PAT Growth (CAGR)

3. Return on Equity (ROE)

4. Return on Asset (ROA)

5. Return on Capital Employed (ROCE)

EBITDA Margin:

The Earnings before Interest Tax Depreciation & Amortization (EBITDA) Margin indicates the
efficiency of the management. It tells us how efficient the company’s operating model is. EBITDA
Margin tells us how profitable (in percentage terms) the company is at an operating level. It al-
ways makes sense to compare the EBITDA margin of the company versus its competitor to get a
sense of the management’s efficiency in terms of managing their expense.

In order to calculate the EBITDA Margin, we first need to calculate the EBITDA itself.
EBITDA = [Operating Revenues - Operating Expense]

Operating Revenues = [Total Revenue - Other Income]

Operating Expense = [Total Expense - Finance Cost - Depreciation & Amortization]
EBIDTA Margin = EBITDA / [Total Revenue - Other Income]

Continuing the example of Amara Raja Batteries Limited, the EBITDA Margin calculation for the
FY14 is as follows:

We first calculate EBITDA , which is computed as follows:

[Total Revenue - Other Income] - [Total Expense - Finance Cost - Depreciation & Amortization]
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Note: Other income is income by virtue of investments and other non operational activity. Includ-
ing other income in EBITDA calculation would clearly skew the data. For this reason, we have to
exclude Other Income from Total Revenues.

[3482 - 46] - [2942 - 0.7 - 65]

=[3436] - [2876]

=560 Crores

Hence the EBITDA Margin is:

560 /3436

=16.3%

| have two questions for you at this stage:

1. What does an EBITDA of Rs.560 Crs and an EBITDA margin of 16.3% indicate?
2. How good or bad an EBITDA margin of 16.3% is?

The first question is a fairly simple. An EBITDA of Rs.560 Crs means that the company has retained
Rs.560 Crs from its operating revenue of Rs.3436 Crs. This also means out of Rs.3436 Crs the com-
pany spent Rs.2876 Crs towards its expenses. In percentage terms, the company spent 83.7% of
its revenue towards its expenses and retained 16.3% of the revenue at the operating level, for its
operations.

Now for the 2nd question, hopefully you should not have an answer.

Remember we did discuss this point earlier in this chapter. A financial ratio on its own conveys
very little information. To make sense of it, we should either see the trend or compare it with its
peers. Going with this, a 16.3% EBITDA margin conveys very little information.

To makes some sense of the EBITDA margin, let us look at Amara Raja’s EBITDA margin trend for
the last 4 years, (all numbers in Rs Crs, except EBITDA margin):

2011 1761 1504 257 14.6%
2012 2364 2025 340 14.4%
2013 2959 2508 451 15.2%
2014 3437 2876 560 16.3%
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It appears that ARBL has maintained its EBITDA at an average of 15%, and in fact on a closer look
it is clear the EBITDA margin is increasing. This is a good sign as it shows consistency and effi-
ciency in the management’s operational capabilities.

In 2011 the EBITDA was Rs.257 Crs and in 2014 the EBITDA is Rs.560 Crs. This translates to a 4 year
EBITDA CAGR growth of 21%.

Please note, we have discussed the formula for CAGR in module 1.

Clearly, it appears that both EBITDA margin and EBITDA growth are quite impressive. However we
still do not know if it is the best. In order to find out if it is the best one needs to compare these
numbers with its competitors. In case of ARBL it would be Exide batteries Limited. | would encour-
age you to do the same for Exide and compare the results.

PAT Margin:

While the EBITDA margin is calculated at the operating level, the Profit After Tax (PAT) margin is
calculated at the final profitability level. At the operating level we consider only the operating ex-
penses however there are other expenses such as depreciation and finance costs which are not
considered. Along with these expenses there are tax expenses as well. When we calculate the PAT
margin, all expenses are deducted from the Total Revenues of the company to identify the overall
profitability of the company.

PAT Margin = [PAT/Total Revenues]

PAT is explicitly stated in the Annual Report. ARBL’s PAT for the FY14 is Rs.367 Crs on the overall
revenue of Rs.3482 Crs (including other income). This translates to a PAT margin of:

=367 /3482

=10.5%
Here is the PAT and PAT margin trend for ARBL:

2011 148 8.4%
2012 215 8.9%
2013 287 9.6%
2014 367 10.5%
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The PAT and PAT margin trend seems impressive as we can clearly see a margin expansion. The 4
year CAGR growth stands at 25.48 %, which is again good. Needless to say, it always makes sense
to compare ratios with its competitors.

Return on Equity (ROE):

The Return on Equity (RoE) is a very important ratio, as it helps the investor assess the return the
shareholder earns for every unit of capital invested. ROE measures the entity’s ability to generate
profits from the shareholders investments. In other words, RoE shows the efficiency of the com-
pany in terms of generating profits to its shareholders. Obviously, higher the RoE, the better it is
for the shareholders. In fact this is one of the key ratios that helps the investor identify investable
attributes of the company. To give you a perspective, the average RoE of top Indian companies
vary between 14 - 16%. | personally prefer to invest in companies that have a RoE of 18% up-
wards.

This ratio is compared with the other companies in the same industry and is also observed over
time.

Also note, if the RoE is high, it means a good amount of cash is being generated by the company,
hence the need for external funds is less. Thus a higher ROE indicates a higher level of manage-
ment performance.

RoE can be calculated as: [Net Profit / Shareholders Equity* 100]

There is no doubt that RoE is an important ratio to calculate, but like any other financial ratios it
also has a few drawbacks. To help you understand its drawbacks, consider this hypothetical ex-
ample.

Assume Vishal runs a Pizza store. To bake pizza’s Vishal needs an oven which costs him
Rs.10,000/-. Oven is an asset to Vishal’s business. He procures the oven from his own funds and
seeks no external debt. At this stage you would agree on his balance sheet he has a shareholder
equity of Rs.10,000 and assets equivalent to Rs.10,000.

Now, assume in his first year of operation, Vishal generates a profit of Rs.2500/-. What is his RoE?
This is quite simple to compute:

RoE =2500/10000*100

=25.0%.
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Now let us twist the story a bit. Vishal has only Rs.8000/- he borrows Rs.2000 from his father to
purchase an oven worth Rs.10000/-. How do you think his balance sheet would look?

On the liability side he would have:
Shareholder Equity = Rs.8000
Debt = Rs.2000

This makes Vishal’s total liability Rs. 10,000. Balancing this on the asset side, he has an asset
worth Rs.10,000. Let us see how his RoE looks now:

RoE =2500/8000*100
=31.25%

With an additional debt, the RoE shot up quite significantly. Now, what if Vishal had only Rs.5000
and borrowed the additional Rs.5000 from his father to buy the oven. His balance sheet would
look like this:

On the liability side he would have:
Shareholder Equity = Rs.5000
Debt = Rs.5000

Vishal’s total liability is Rs. 10,000. Balancing this on the asset side, he has an asset worth
Rs.10,000. Let us see how his RoE looks now:

RoE =2500 /5000 *100
=50.0%

Clearly, higher the debt Vishal seeks to finance his asset, (which in turn is required to generate
profits) higher is the RoE. A high RoE is great, but certainly not at the cost of high debt. The prob-
lem is with a high amount of debt, running the business gets very risky as the finance cost in-
creases drastically. For this reason inspecting the RoE closely becomes extremely important. One
way to do this is by implementing a technique called the ‘DuPont Model’ also called DuPont
Identity.

zerodha.com/varsity


http://www.zerodha.com/varsity
http://www.zerodha.com/varsity

This model was developed in 1920’s by the DuPont Corporation. DuPont Model breaks up the RoE
formula into three components with each part representing a certain aspect of business. The Du-
Pont analysis uses both the P&L statement and the Balance sheet for the computation.

The RoE as per DuPont model can be calculated as:

t Profit Net Sales Avg Total Assets
|

X : o
5 Avg Total Assets Shareholder Equity

If you notice the above formula, the denominator and the numerator cancels out with one an-
other eventually leaving us with the original RoE formula which is:

RoE = Net Profit /| Shareholder Equity *100

However in the process of decomposing the RoE formula, we gained insights into three distinct
aspects of the business. Let us look into the three components of the DuPont model that makes
up the RoE formula:

® Net Profit Margin = Net Profits/ Net Sales*100

This is the first part of the DuPont Model and it expresses the company’s ability to generate
profits. This is nothing but the PAT margin we looked at earlier in this chapter. A low Net
profit margin would indicate higher costs and increased competition.

@ Asset Turnover = Net Sales / Average Total asset

Asset turnover ratio is an efficiency ratio that indicates how efficiently the company is using
its assets to generate revenue. Higher the ratio, it means the company is using its assets
more efficiently. Lower the ratio, it could indicate management or production problems.
The resulting figure is expressed as number of times per year.

® Financial Leverage = Average Total Assets / Shareholders Equity

Financial leverage helps us answer this question - ‘For every unit of shareholders equity,
how many units of assets does the company have’. For example if the financial leverage is 4,
this means for every Rs.1 of equity, the company supports Rs.4 worth of assets. Higher the
financial leverage along with increased amounts of debt, will indicate the company is highly
leveraged and hence the investor should exercise caution. The resulting figure is expressed
as number of times per year.

As you can see, the DuPont model breaks up the RoE formula into three distinct components,
with each component giving an insight into the company’s operating and financial capabilities.
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Let us now proceed to implement the DuPont Model to calculate Amara Raja’s RoE for the FY 14.
For this we need to calculate the values of the individual components.

Net Profit Margin: As | mentioned earlier, this is same as the PAT margin. From our calculation
earlier, we know the Net Profit Margin for ARBL is 9.2%

Asset Turnover = Net Sales / Average Total assets
We know from the FY14 Annual Report, Net sales of ARBL stands at Rs.3437 Crs.

The denominator has Average Total Assets which we know can be sourced from the Balance
Sheet. But what does the word ‘Average’ indicate?

From ARBL’s balance sheet, the total asset for FY14 is Rs.2139Crs. But think about this, the re-
ported number is for the Financial Year 2014, which starts from 1st of April 2013 and close on 31st
March 2014. This implies that at the start of the financial year 2014 (1st April 2013), the company
must have commenced its operation with assets that it carried forward from the previous finan-
cial year (FY 2013). During the financial year (FY 2014) the company has acquired some more as-
sets which when added to the previous year’s (FY2013) assets totaled to Rs.2139 Crs. Clearly the
company started the financial year with a certain rupee value of assets but closed the year with a
totally different rupee value of assets.

Keeping this in perspective, if | were to calculate the asset turnover ratio, which asset value
should I consider for the denominator? Should | consider the asset value at the beginning of the
year or at the asset value at the end of the year? To avoid confusion, the practice is to take aver-
age of the asset values for the two financial years.

Do remember this technique of averaging line items, as we will be using this across other ratios

as well.

From ARBL’s annual report we know:
Net Sales in FY14 is Rs.3437Crs

Total Assets in FY13is Rs.1770 Crs
Total Assets in FY14 is Rs.2139 Crs
Average Assets = (1770 +2139) /2

=1955
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Asset Turnover = 3437 / 1955

=1.75 times

This means for every Rs.1 of asset deployed, the company is generating Rs.1.75 in revenues.
We will now calculate the last component that is the Financial Leverage.

Financial Leverage = Average Total Assets /| Average Shareholders Equity

We know the average total assets is Rs.1955. We just need to look into the shareholders equity.
For reasons similar to taking the “Average Assets” as opposed to just the current year assets, we
will consider “Average Shareholder equity” as opposed to just the current year’s shareholder eg-
uity.

Shareholders Equity for FY13 =Rs.1059 Crs
Shareholders Equity for FY14 = Rs.1362 Crs
Average shareholder equity =Rs.1211 Crs
Financial Leverage = 1955 /1211

=1.61 times

Considering ARBL has little debt, Financial Leverage of 1.61 is indeed an encouraging number.
The number above indicates that for every Rs.1 of Equity, ARBL supports Rs.1.61 of assets.

We now have all the inputs to calculate RoE for ARBL, we will now proceed to do the same:
RoE = Net Profit Margin X Asset Turnover X Financial Leverage

=9.2%*1.75*1.61

~ 25.9%. Quite impressive | must say!

| understand this is a lengthy way to calculate RoE, but this is perhaps the best way as in the proc-
ess of calculating RoE, we can develop valuable insights into the business. DuPont model not
only answers what the return is but also the quality of the return.

However if you wish do a quick RoE calculation you can do so the following way:

RoE = Net Profits / Avg shareholders Equity
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From the annual report we know for the FY14 the PAT is Rs.367 Crs
RoE=367/1211
=30.31%

Return on Asset (RoA):

Having understood the DuPont Model, understanding the next two ratios should be simple. Re-
turn on Assets (RoA) evaluates the effectiveness of the entity’s ability to use the assets to create
profits. A well managed entity limits investments in non productive assets. Hence RoA indicates
the management’s efficiency at deploying its assets. Needless to say, higher the RoA, the better it
is.

RoA = [Net income + interest*(1-tax rate)] / Total Average Assets

From the Annual Report, we know:

Net income for FY 14 = Rs.367.4 Crs

And we know from the Dupont Model the Total average assets (for FY13 and FY14) = Rs.1955 Crs

So what does interest *(1- tax rate) mean? Well, think about it, the loan taken by the company is
also used to finance the assets which in turn is used to generate profits. So in a sense, the debt
holders (entities who have given loan to the company) are also a part of the company. From this
perspective the interest paid out also belongs to a stake holder of the company. Also, the com-
pany benefits in terms of paying lesser taxes when interest is paid out, this is called a ‘tax shield’.
For these reasons, we need to add interest (by accounting for the tax shield) while calculating the
ROA.

The Interest amount (finance cost) is Rs.1 Crs, accounting for the tax shield it would be
=7 (1-32%)

=4.76 Crs . Please note, 32% is the average tax rate.

Hence ROA would be -

RoA=[367.4+4.76] / 1955

~372.16/ 1955

~19.03%
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Return on Capital Employed (ROCE):
The Return on Capital employed indicates the profitability of the company taking into considera-
tion the overall capital it employs.

Overall capital includes both equity and debt (both long term and short term).
ROCE = [Profit before Interest & Taxes / Overall Capital Employed]
Overall Capital Employed = Short term Debt + Long term Debt + Equity
From ARBL’s Annual Report we know:

Profit before Interest & Taxes = Rs.537.7 Crs

Overall Capital Employed:

Short term debt: Rs.8.3 Crs

Long term borrowing: Rs.75.9 Crs

Shareholders equity = Rs.1362 Crs

Overall capital employed: 8.3 + 75.9 + 1362 = 1446.2 Crs

ROCE =537.7 / 1446.2

=37.18%
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Key takeaways from this chapter:

1. AFinancial ratio is a useful financial metric of a company. On its own merit the ratio con-
veys very little information

2. Itis best to study the ratio’s recent trend or compare it with the company’s peers to de-
velop an opinion

3. Financial ratios can be categorized into ‘Profitability’, ‘Leverage’, ‘Valuation’, and ‘Operat-
ing’ ratios. Each of these categories give the analyst a certain view on the company’s busi-
ness

4. EBITDA is the amount of money the company makes after subtracting the operational ex-
penses of the company from its operating revenue

5. EBITDA margin indicates the percentage profitability of the company at the operating
level

6. PAT margin gives the overall profitability of the firm

7. Return on Equity (ROE) is a very valuable ratio. It indicates how much return the share-
holders are making over their initial investment in the company

8. A high ROE and a high debt is not a great sign

9. DuPont Model helps in decomposing the ROE into different parts, with each part throwing
light on different aspects of the business

10. DuPont method is probably the best way to calculate the ROE of a firm
11. Return on Assets in an indicator of how efficiently the company is utilizing its assets

12. Return on Capital employed indicates the overall return the company generates consid-
ering both the equity and debt.

13. For the ratios to be useful, it should be analyzed in comparison with other companiesin
the same industry.

14. Also, ratios should be analyzed both at a single pointin time and as an indicator of
broader trends over time
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CHAPTER 2

The Financial Ratio Analysis
(Part 2)

10.1 - The Leverage Ratios

We touched upon the topic of financial leverage while discussing Return on Equity and the Du-
Pont analysis. The use of leverage (debt) is like a double edged sword.

Well managed companies seek debt if they foresee a situation where, they can deploy the debt
funds in an environment which generates a higher return in contrast to the interest payments the
company has to makes to service its debt. Do recollect a judicious use of debt to finance assets

also increases the return on equity.

However if a company takes on too much debt, then the interest paid to service the debt eats into
the profit share of the shareholders. Hence there is a very thin line that separates the good and
the bad debt. Leverage ratios mainly deal with the overall extent of the company’s debt, and help

us understand the company’s financial leverage better.

We will be looking into the following leverage ratios:
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1. Interest Coverage Ratio
2. Debt to Equity Ratio

3. Debt to Asset Ratio

4, Financial Leverage Ratio

So far we have been using Amara Raja Batteries Limited (ARBL) as an example, however to under-
stand leverage ratios, we will look into a company that has a sizable debt on its balance sheet. |
have chosen Jain Irrigation Systems Limited (JISL), | would encourage you calculate the ratios for
a company of your choice.

Interest Coverage Ratio:

The interest coverage ratio is also referred to as debt service ratio or the debt service coverage ra-
tio. The interest coverage ratio helps us understand how much the company is earning relative to
the interest burden of the company. This ratio helps us interpret how easily a company can pay
its interest payments. For example, if the company has an interest burden of Rs.100 versus an in-
come of Rs.400, then we clearly know that the company has sufficient funds to service its debt.
However a low interest coverage ratio could mean a higher debt burden and a greater possibility
of bankruptcy or default.

The formula to calculate the interest coverage ratio:
[Earnings before Interest and Tax / Interest Payment]

The ‘Earnings before Interest and Tax’ (EBIT) is:
EBITDA - Depreciation & Amortization

Let us apply this ratio on Jain Irrigation Limited. Here is the snapshot of Jain Irrigation’s P&L state-
ment for the FY 14, | have highlighted the Finance costs in red:
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We know EBITDA = [Revenue - Expenses]

To calculate the expenses, we exclude the Finance cost (Rs.467.64Crs) and Depreciation & Amorti-
zation cost (Rs.204.54) from the total expenses of Rs.5730.34 Crs.

Therefore EBITDA = Rs.5828.13 - 5058.15 Crs
EBITDA =Rs. 769.98 Crs

We know EBIT is EBITDA - [Depreciation & Amortization]

=Rs. 769.98 - Rs. 204.54

=Rs. 565.44

We know Finance Cost = Rs.467.64, Hence Interest coverage is:

=565.44/ 467.64
=1.209x

The ‘X’ in the above number represents a multiple. Hence 1.209x should be read as 1.209 ‘times’.

Interest coverage ratio of 1.209x suggests that for every Rupee of interest payment due, Jain Irri-
gation Limited is generating an EBIT of 1.209 times.

Debt to Equity Ratio:

This is a fairly straightforward ratio. Both the variables required for this computation can be
found in the Balance Sheet. It measures the amount of the total debt capital with respect to the
total equity capital. A value of 1 on this ratio indicates an equal amount of debt and equity capi-
tal. Higher debt to equity (more than 1) indicates higher leverage and hence one needs to be care-
ful. Lower than 1 indicates a relatively bigger equity base with respect to the debt.

The formula to calculate Debt to Equity ratio is:
[Total Debt/Total Equity]

Please note, the total debt here includes both the short term debt and the long term debt.

Here is JSIL’s Balance Sheet, | have highlighted total equity, long term, and short term debt:
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CONSOLIDATED
BALANCE SHEET AS

2 in Milkon
Note No. nWargoia  31-llae2013

EQUITY AND LIABILITES
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Total debt = Long term borrowings + Short term borrowings

=1497.663 +2188.915
=Rs.3686.578 Crs

Total Equity is Rs.2175.549 Crs

Thus, Debt to Equity ratio will be computed as follows:

=3686.578 / 2175.549
=1.69

Debt to Asset Ratio:

This ratio helps us understand the asset financing pattern of the company. It conveys to us how
much of the total assets are financed through debt capital.

The formula to calculate the same is:

Total Debt / Total Assets

For JSIL, we know the total debt is Rs.3686.578 Crs.
From the Balance Sheet, we know the total assets as Rs.8204.447 Crs:
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Hence the Debt to Asset ratio is:
=3686.578 / 8204.44
= 0.449 or ~45%.

This means roughly about 45% of the assets held by JSIL is financed through debt capital or credi-
tors (and therefore 55% is financed by the owners). Needless to say, higher the percentage the
more concerned the investor would be as it indicates higher leverage and risk.

Financial Leverage Ratio

We briefly looked at the financial leverage ratio in the previous chapter, when we discussed about
Return on Equity. The financial leverage ratio gives us an indication, to what extent the assets are
supported by equity.

The formula to calculate the Financial Leverage Ratio is:
Average Total Asset [ Average Total Equity

From JSIL’s FY14 balance sheet, | know the average total assets is Rs.8012.615. The average total
equity is Rs.2171.755. Hence the financial leverage ratio or simply the leverage ratio is:
8012.615/2171.755

=3.68

This means JISL supports Rs.3.68 units of assets for every unit of equity. Do remember higher the
number, higher is the company’s leverage and the more careful the investor needs to be.

10.2 - Operating Ratios

Operating Ratios also called ‘Activity ratios’ or the ‘Management ratios’ indicate the efficiency of
the company’s operational activity. To some degree, the operating ratios reveal the manage-
ment’s efficiency as well. These ratios are called the Asset Management Ratios, as these ratios in-
dicate the efficiency with which the assets of the company are utilized.

o
- >
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Some of the popular Operating Ratios are:

1. Fixed Assets Turnover Ratio

2. Working Capital Turnover Ratio
3. Total Assets Turnover Ratio

4. Inventory Turnover Ratio

5. Inventory Number of Days

6. Receivable Turnover Ratio

7. Days Sales Outstanding (DSO)

The above ratios combine data from both the P&L statement and Balance sheet. We will under-
stand these ratios by calculating them for Amara Raja Batteries Limited.

To get a true sense of how good or bad the operating ratios of a company are, one must compare
the ratios with the company’s peers /competitors or these ratios should be compared over the
years for the same company.

Fixed Assets Turnover

The ratio measures the extent of the revenue generated in comparison to its investment in fixed
assets. It tells us how effectively the company uses its plant and equipment. Fixed assets include
the property, plant and equipment. Higher the ratio, it means the company is effectively and effi-
ciently managing its fixed assets.

Fixed Assets Turnover = Operating Revenues [ Total Average Asset

The assets considered while calculating the fixed assets turnover should be net of accumulated
depreciation, which is nothing but the net block of the company. It should also include the capi-
tal work in progress. Also, we take the average assets for reasons discussed in the previous chap-
ter.

From ARBL’s FY14 Balance Sheet:

ASSETS

Non-current assets

Fixed assets 10
Tangible assets 6,198.24 3,554.97
Intangible assets 32.96 33.69
Caprtal work-in-progress 1,443 60 1,024.97
Intangible assets under development 3.14 4. 84
7.678.64 4618.47
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= (767.864 + 461.847)/2
= Rs.614.855 Crs

We know the operating revenue for FY14 is Rs.343.7 Crs, hence the Fixed Asset Turnover ratio is:
=343.7/614.85
=0.558

While evaluating this ratio, do keep in mind the stage the company is in. For a very well estab-
lished company, the company may not be utilizing its cash to invest in fixed assets. However for a
growing company, the company may invest in fixed assets and hence the fixed assets value may
increase year on year. You can notice this in case of ARBL as well, for the FY13 the Fixed assets
value is at Rs.461.8 Crs and for the FY14 the fixed asset value is at Rs.767.8 Crs.

This ratio is mostly used by capital intensive industries to analyze how effectively the fixed assets
of the company are used.

Working Capital Turnover

Working capital refers to the capital required by the firm to run its day to day operations. To run
the day to day operations, the company needs certain type of assets. Typically such assets are -
inventories, receivables, cash etc. If you realize these are current assets. A well managed com-
pany finances the current assets by current liabilities. The difference between the current assets
and current liabilities gives us the working capital of the company.

Working Capital = Current Assets - Current Liabilities

If the working capital is a positive number, it implies that the company has working capital sur-
plus and can easily manage its day to day operations. However if the working capital is negative,
it means the company has a working capital deficit. Usually if the company has a working capi-
tal deficit, they seek a working capital loan from their bankers.

The concept of ‘Working Capital Management’ in itself is a huge topic in Corporate Finance. It in-
cludes inventory management, cash management, debtor’s management etc. The company’s
CFO (Chief Financial Officer) strives to manage the company’s working capital efficiently. Of
course, we will not get into this topic as we will digress from our main topic.

The working capital turnover ratio is also referred to as Net sales to working capital. The working
capital turnover indicates how much revenue the company generates for every unit of working
capital. Suppose the ratio is 4, then it indicates that the company generates Rs.4 in revenue for
every Rs.1 of working capital. Needless to say, higher the number, better it is. Also, do remember
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all ratios should be compared with its peers/competitors in the same industry and with the com-
pany’s past and planned ratio to get a deeper insight of its performance.

The formula to calculate the Working Capital Turnover:
Working Capital Turnover = [Revenue / Average Working Capital]

Let us implement the same for Amara Raja Batteries Limited. To begin with, we need to calculate
the working capital for the FY13 and the FY14 and then find out the average. Here is the snapshot
of ARBL’s Balance sheet, | have highlighted the current assets (red) and current liabilities (green)

for both the years:
Current habilities
Short-term borrowings 7 8383 98.63
Trade payable: 8 1,277.79 1,362.34
__ Other current liabilities 9 2.156.68 1.807.26
Short-term peovisions 6 281873 2.493.20
ST R—TY
Total ! ‘ |_17.704.
ASSETS z
Non-current azzets
 Foed azets 10
Tangible azzets 6,192.94 355497
Intangibie a:zet 3206/ 33.60
Caprtal work-n-progrezz 1,443.60 1,024.97
Intangible azzets under development 3.14 4.24
7.678.64 461847
Norrcurrent investments 1" 160.76 160.76
Long-term loanz and advances 12 567.69 353.52
Other non-current assets 13 1.22 3.43
8.408.31 5,136.18
Current assets
Ifventones 14 3.350.08 2.928.58
Trade recenables 15 452789 3.806.77
Cach and bank balarces 16 2,945.67 4.107.90
Short-term loans and advances 12 2.11930 1,656.78
__Other aurrent assets LE . 43.16 S22
T 1258610 T 1256852 |

The average working capital for the two financial years can be calculated as follows:

Current Assets for the FY13 Rs.1256.85
Current Liabilities for the FY13 Rs.576.19
Current Asset for the FY14 Rs.1298.61
Current Liability for the FY14 Rs.633.70

| AversgeWorking Capltal
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We know the revenue from operations for ARBL is Rs.3437 Crs. Hence the working capital turn-
over ratio is:

=3437/672.78

=5.11 times

The number indicates that for every Rs.1 of working capital, the company is generating Rs.5.11 in
terms of revenue. Higher the working capital turnover ratio the better it is, as it indicates the com-
pany is generating better sales in comparison with the money it uses to fund the sales.

Total Assets Turnover

This is a very straight forward ratio. It indicates the company’s capability to generate revenues
with the given amount of assets. Here the assets include both the fixed assets as well as current
assets. A higher total asset turnover ratio compared to its historical data and competitor data
means the company is using its assets well to generate more sales.

Total Asset Turnover = Operating Revenue | Average Total Assets
The average total assets for ARBL is as follows -

Total Assets for FY 13 - Rs.1770.5 Crs and Total Assets for FY 14 - 2139.4 Crs. Hence the average
assets would be Rs. 1954.95 Crs.

Operating revenue (FY 14) is Rs. 3437 Crs. Hence Total Asset Turnover is:
= 3437 /1954.95
=1.75 times

Inventory Turnover Ratio

Inventory refers to the finished goods that a company maintains in its store or showroom with an
expectation of selling the finished goods to prospective clients. Typically, the company besides
keeping the goods in the store would also keep some additional units of finished goods in its
warehouse.

If a company is selling popular products, then the goods in the inventory gets cleared rapidly, and
the company has to replenish the inventory time and again. This is called the ‘Inventory turn-
over.

For example think about a bakery selling hot bread. If the bakery is popular, the baker probably
knows how many pounds of bread he is likely to sell on any given day. For example, he could sell
200 pounds of bread daily. This means he has to maintain an inventory of 200 pounds of bread
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every day. So, in this case the rate of replenishing the inventory and the inventory turnover is
quite high.

This may not be true for every business. For instance, think of a car manufacturer. Obviously sell-
ing cars is not as easy as selling bread. If the manufacturer produces 50 cars, he may have to wait
for sometime before he sells these cars. Assume, to sell 50 cars (his inventory capacity) he will
need 3 months. This means, every 3 months he turns over his inventory. Hence in a year he turns
over his inventory 4 times.

Finally, if the product is really popular the inventory turnover would be high. This is exactly what
the ‘Inventory Turnover Ratio’ indicates.

The formula to calculate the ratio is:
Inventory Turnover = [Cost of Goods Sold / Average Inventory]

Cost of goods sold is the cost involved in making the finished good. We can find this in the P&L
Statement of the company. Let us implement this for ARBL.

To evaluate the cost of goods sold, | need to look into the expense of the company, here is the ex-
tract of the same:

EXPENSES

Cost of matenals consumed 19 21,011.85 17.603.12
Purchace: of stock-in-trade 20 2.113.69 2632545
Changes in inventones of finished goods, work-in-processand 20 (292.10) (320.89)
stock-in-trade

Employee benefits expense 21 1,583.16 1,262.30
Finance costs 22 7.18 2.69
Depreciaton and amortization expenze [includes imparment 23 645.71 660.92
oss of TN (PY £75.52 million)]

Other expences 24 434660 3.904.24

Cost of materials consumed is Rs.2101.19 Crs and purchases of stock-in-trade is Rs.211.36 Crs.
These line items are directly related to the cost of goods sold. Along with this | would also like to
inspect ‘Other Expenses’ to identify any costs that are related to the cost of goods sold. Here is
the extract of Note 24, which details ‘Other Expenses..
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NOTE 24: OTHER EXPENSES T

Particulars Year ended March 31, 2014  Year ended March 31, 2013
a. Stores and spares consumed (induding packing matenal) 443 41 378.41
b. Power and fuel 922.56 978.14
C Insurance 349 7.29
d. Repairs and maintenance to
) Madhinery 220 55.79
3) Buildings 18.72 63.18 14.28 70.07
Total (A) 1,443 64 1,433.91
8. Seling expenses
a. Advertizement and promotion 27585 154 41
b. Freight cutward 595.20 553.25
¢ Commussion on sales 3.40 10.13
d. Service expenses 21936 94.16
e. Warehousing and secondary freight 250.50 22343
f. Other zales expences 24215 155.81
g. Royalty on sales - 0.05
h. Product warranties 383.15 454 62
Total (B) 1,974 61 1,685.86

There are two expenses that are directly related to manufacturing i.e. Stores & spares consumed
which is at Rs.44.94 Crs and the Power & Fuel cost which is at Rs.92.25Crs.

Hence the Cost of Goods Sold = Cost of materials consumed + Purchase of stock in trade + Stores
& spares consumed + Power & Fuel

=2101.19+211.36+44.94+92.25

COGS=Rs.2449.74 Crs

This takes care of the numerator. For the denominator, we just take the average inventory for the
FY13 and FY14. From the balance sheet - Inventory for the FY13 is Rs.292.85 Crs and for the FY14
is Rs.335.00 Crs. The average works out to Rs.313.92 Crs

The Inventory turnover ratio is:
=2449.74 / 313.92

=7.8 times

~ 8.0 times a year

This means Amara Raja Batteries Limited turns over its inventory 8 times in a year or once in
every 1.5 months. Needless to say, to get a true sense of how good or bad this number is, one
should compare it with its competitor’s numbers.

Inventory Number of days

While the Inventory turnover ratio gives a sense of how many times the company ‘replenishes’
their inventory, the ‘Inventory number of Days’ gives a sense of how much time the company
takes to convert its inventory into cash. Lesser the number of days, the better it is. A short inven-
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tory number of day’s number implies, the company’s products are fast moving. The formula to
calculate the inventory number of days is:

Inventory Number of Days = 365 / Inventory Turnover

The inventory number of days is usually calculated on a yearly basis. Hence in the formula above,
365 indicates the number of days in a year.

Calculating this for ARBL:
=365/7.8

=46.79 days

~47.0 days

This means ARBL roughly takes about 47 days to convert its inventory into cash. Needless to say,
the inventory number of days of a company should be compared with its competitors, to get a
sense of how the company’s products are moving.

Now here is something for you to think about - What would you think about the following situa-
tion?
1. A certain company under consideration has a high inventory turnover ratio

2. Because of a high inventory turnover ratio, the inventory number of days is very low

On the face of it, the inventory management of this company looks good. A high inventory turn-
over ratio signifies that the company is replenishing its inventory quickly, which is excellent.
Along with the high inventory turnover, a low inventory number of days indicate that the com-
pany is quickly able to convert its goods into cash. Again, this is a sign of great inventory manage-
ment.

However, what if the company has a great product (hence they are able to sell quickly) but a low
production capacity? Even in this case the inventory turnover will be high and inventory days will
be low. But a low production capacity can be a bit worrisome as it raises many questions about
the company’s production:

1. Why is the company not able to increase their production?

2. Are they not able to increase production because they are short of funds?

3. If they are short of funds, why can’t they seek a bank loan?

4. Have they approached a bank and are not been able to raise a loan successfully?

5. If they are not able to raise a loan, why?
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6. What if the management does not have a great track record, hence the banks hesitation
to give a loan?

7. If funds are not a problem, why can’t the company increase production?

8. Is sourcing raw materials difficult? Is the raw material required regulated by government
(like Coal, power, Oil etc).

9. Difficult access to raw material - does that mean the business is not scalable?

As you can see, if any of the points above is true, then a red flag is raised, hence investing in the
company may not be advisable. To fully understand the production issues (if any), the fundamen-
tal analyst should read through the annual report (especially the management discussion & analy-
sis report) from the beginning to the end.

This means whenever you see impressive inventory numbers, always ensure to double check the
production details as well.

Accounts Receivable Turnover Ratio

Having understood the inventory turnover ratio, understanding the receivable turnover ratio
should be quite easy. The receivable turnover ratio indicates how many times in a given period
the company receives money/cash from its debtors and customers. Naturally a high number indi-
cates that the company collects cash more frequently.

The formula to calculate the same is:
Accounts Receivable Turnover Ratio = Revenue [ Average Receivables

From the balance sheet we know,

Trade Receivable for the FY13: Rs.380.67 Crs
Trade Receivable for the FY14 : Rs. 452.78 Crs
Average Receivable for the FY13: Rs.416.72
Operating Revenue for the FY14 : Rs.3437 Crs

Hence the Receivable Turnover Ratio is:
=3437/416.72

=8.24 times a year

~ 8.0 times

This means ARBL receives cash from its customers roughly about 8.24 times a year or once every
month and a half.
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Days Sales Outstanding (DSO) )/ Average Collection Period/ Day Sales in Receivables

The days sales outstanding ratio illustrates the average cash collection period i.e the time lag be-
tween billing and collection. This calculation shows the efficiency of the company’s collection de-
partment. Quicker/faster the cash is collected from the creditors, faster the cash can be used for
other activities. The formula to calculate the same is:

Days Sales outstanding = 365 /| Receivable Turnover Ratio

Solving this for ARBL,
=365/8.24
=44.29 days

This means ARBL takes about 45 days from the time it raises an invoice to the time it can collect
its money against the invoice.

Both Receivables Turnover and the DSO indicate the credit policy of the firm. A efficiently run
company, should strike the right balance between the credit policy and the credit it extends to its

customers.
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Key takeaways from this chapter

1. Leverage ratios include Interest Coverage, Debt to Equity, Debt to Assets and the Financial
Leverage ratios

2. The Leverage ratios mainly study the company’s debt with respect to the company’s abil-
ity to service the long term debt

3. Interest coverage ratio inspects the company’s earnings ability (at the EBIT level) as a mul-
tiple of its finance costs

4. Debt to equity ratio measures the amount of equity capital with respect to the debt capi-
tal. Debt to equity of 1 implies equal amount of debt and equity

5. Debt to Asset ratio helps us understand the asset financing structure of the company (es-
pecially with respect to the debt)

6. The Financial Leverage ratio helps us understand the extent to which the assets are fi-
nanced by the owner’s equity

7. The Operating Ratios also referred to as the Activity ratios include - Fixed Assets Turn-
over, Working Capital turnover, Total Assets turnover, Inventory turnover, Inventory number
of days, Receivable turnover and Day Sales Outstanding ratios

8. The Fixed asset turnover ratio measures the extent of the revenue generated in compari-
son to its investment in fixed assets

9. Working capital turnover ratio indicates how much revenue the company generates for
every unit of working capital

10. Total assets turnover indicates the company’s ability to generate revenues with the
given amount of assets

11. Inventory turnover ratio indicates how many times the company replenishes its inven-
tory during the year

12. Inventory number of days represents the number of days the company takes to convert
its inventory to cash

a. A high inventory turnover and therefore a low inventory number of days is a great
combination

b. However make sure this does not come at the cost of low production capacity

13. The Receivable turnover ratio indicates how many times in a given period the company
receives money from its debtors and customers
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14. The Days sales outstanding (DSO) ratio indicates the Average cash collection period i.e
the time lag between the Billing and Collection

zerodha.com/varsity


http://www.zerodha.com/varsity
http://www.zerodha.com/varsity

CHAPTER 3

The Financial Ratio Analysis
(Part 3)

11.1 - The Valuation Ratio

Valuation in general, is the estimate of the ‘worth’ of something. In the context of investments,
‘something’ refers to the price of a stock. When making an investment decision, irrespective of
how attractive the business appears, what matters finally is the valuation of the business. Valua-
tions dictate the price you pay to acquire a business. Sometimes, a mediocre business at a ridicu-
lously cheap valuation may be a great investment option as opposed to an exciting business with

an extremely high valuation.

The valuation ratios help us develop a sense on how the stock price is valued by the market par-
ticipants. These ratios help us understand the attractiveness of the stock price from an invest-
ment perspective. The point of valuation ratios is to compare the price of a stock viz a viz the
benefits of owning it. Like all the other ratios we had looked at, the valuation ratios of a company
should be evaluated alongside the company’s competitors.

v,
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Valuation ratios are usually computed as a ratio of the company’s share price to an aspect of its
financial performance. We will be looking at the following three important valuation ratios:

1. Price to Sales (P/S) Ratio
2. Price to Book Value (P/BV) Ratio and
3. Price to Earnings (P/E) Ratio

Continuing with the Amara Raja Batteries Limited (ARBL) example, let us implement these ratios
to see how ARBL fares. The stock price of ARBL is a vital input used to calculate the valuation ra-
tios. As | write this chapter on 28th of Oct 2014, ARBL is trading at Rs.661 per share.

We also need the total number of shares outstanding in ARBL to calculate the above ratios. If you
recollect, we have calculated the same in chapter 6. The total number of shares outstanding is
17,08,12,500 or 17.081Crs

Price to Sales (P/S) Ratio

In many cases, investors may use sales instead of earnings to value their investments. The earn-
ings figure may not be true as some companies might be experiencing a cyclical low in their earn-
ing cycle. Additionally due to some accounting rules, a profitable company may seem to have no
earnings at all, due to the huge write offs applicable to that industry. So, investors would prefer
to use this ratio. This ratio compares the stock price of the company with the company’s sales per
share. The formula to calculate the P/S ratio is:

Price to sales ratio = Current Share Price / Sales per Share

Let us calculate the same for ARBL. We will take up the denominator first:
Sales per share = Total Revenues / Total number of shares

We know from ARBL’s P&L statement the:

Total Revenue = Rs.3482 Crs

Number of Shares = 17.081 Crs

Sales per share =3482/17.081

Therefore the Sales per share = Rs. 203.86

This means for every share outstanding, ARBL does Rs.203.86 worth of sales.
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Price to Sales Ratio =661 /203.86
= 3.24x or 3.24 times

A P/S ratio of 3.24 times indicates that, for every Rs.1 of sales, the stock is valued Rs.3.24 times
higher. Obviously, higher the P/S ratio, higher is the valuation of the firm. One has to compare the
P/S ratio with its competitors in the industry to get a fair sense of how expensive or cheap the
stock is.

Here is something that you need to remember while calculating the P/S ratio. Assume there are
two companies (Company A and Company B) selling the same product. Both the companies gen-
erate a revenue of Rs.1000/-each. However, Company A retains Rs.250 as PAT and Company B re-
tains Rs.150 as PAT. In this case, Company A has a profit margin of 25% versus Company B’s which
has a 15% profit margin. Hence the sales of Company A is more valuable than the sales of Com-
pany B. Hence if Company A is trading at a higher P/S, then the valuation maybe justified, simply
because every rupee of sales Company A generates, a higher profit is retained.

Hence whenever you feel a particular company is trading at a higher valuation from the P/S ratio
perspective, do remember to check the profit margin for cues.

Price to Book Value (P/BV) Ratio

Before we understand the Price to Book Value ratio, we need to understand what the term ‘Book
Value’ means.

Consider a situation where the company has to close down its business and liquidate all its as-
sets. What is the minimum value the company receives upon liquidation? The answer to this lies
in the “Book Value” of the firm.

The “Book Value” of a firm is simply the amount of money left on table after the company pays off
its obligations. Consider the book value as the salvage value of the company. Suppose the book
value of a company is Rs.200 Crs, then this is the amount of money the company can expect to re-
ceive after it sells everything and settles its debts. Usually the book value is expressed on a per
share basis. For example, if the book value per share is Rs.60, then Rs.60 per share is what the
shareholder can expect in case the company decides to liquidate. The ‘Book Value’ (BV) can be
calculated as follows:

BV = [Share Capital + Reserves (excluding revaluation reserves) /| Total Number of shares]

Let us calculate the same for ARBL:
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From ARBL’s balance sheet we know:

Share Capital =Rs.17.1 Crs

Reserves = Rs.1345.6 Crs

Revaluation Reserves =0

Number of shares: 17.081

Hence the Book Value per share =[17.1+1345.6 - 0] / 17.081
=Rs.79.8 per share

This means if ARBL were to liquidate all its assets and pay off its debt, Rs.79.8 per shares is what
the shareholders can expect.

Moving ahead, if we divide the current market price of the stock by the book value per share, we
will get the price to the book value of the firm. The P/BV indicates how many times the stock is
trading over and above the book value of the firm. Clearly the higher the ratio, the more expen-
sive the stockiis.

Let us calculate this for ARBL. We know:

Stock price of ARBL = Rs.661 per share

BV of ARBL = 79.8 per share

P/BV=661/79.8

= 8.3x or 8.3 times

This means ARBL is trading over 8.3 times its book value.

A high ratio could indicate the firm is overvalued relative to the equity/ book value of the com-
pany. A low ratio could indicate the company is undervalued relative to the equity/ book value of
the company.

Price to Earning (P/E) Ratio

The Price to Earnings ratio is perhaps the most popular financial ratio. Everybody likes to check
the P/E of a stock. Because of the popularity the P/E ratio enjoys, it is often considered the ‘finan-
cial ratio superstar’.
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The P/E of a stock is calculated by dividing the current stock price by the Earning Per share
(EPS). Before we proceed further to understand the PE ratio, let us understand what “Earnings
per Share” (EPS) stands for.

EPS measures the profitability of a company on a per share basis. For example assume a certain
company with 1000 shares outstanding generates a profit of Rs.200000/-. Then the earningson a
per share basis would be:

=200000/ 1000
= Rs.200 per share.

Hence the EPS gives us a sense of the profits generated on a per share basis. Clearly, higher the
EPS, better it is for its shareholders.

If you divide the current market price with EPS we get the Price to Earnings ratio of a firm. The P/E
ratio measures the willingness of the market participants to pay for the stock, for every rupee of
profit that the company generates. For example if the P/E of a certain firm is 15, then it simply
means that for every unit of profit the company earns, the market participants are willing to pay
15 times. Higher the P/E, more expensive is the stock.

Let us calculate the P/E for ARBL. We know from its annual report -
PAT = Rs.367 Crs

Total Number of Shares =17.081 Crs

EPS = PAT / Total Number of shares

=367/17.081

=Rs.21.49

Current Market Price of ARBL =661

Hence P/E=661/21.49

=30.76 times

This means for every unit of profit generated by ARBL, the market participants are willing to pay
Rs.30.76 to acquire the share.
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Now assume, ARBL’s price jumps to Rs.750 while the EPS remains at Rs.21.49, the new P/E would
be:

=750/21.49
=34.9 times

While the EPS stayed flat at Rs.21.49 per share, the stock’s P/E jumped. Why do you think this hap-
pened?

Clearly, the P/E Ratio jumped because of the increase in the stock price. As we know the stock
price of a company increases when the expectations from the company increases.

Remember, P/E Ratio is calculated with ‘earnings’ in its denominator. While looking at the P/E ra-
tio, do remember the following key points:

1. P/E indicates how expensive or cheap the stock is trading at. Never buy stocks that are
trading at high valuations. | personally do not like to buy stocks that are trading beyond 25
or at the most 30 times its earnings, irrespective of the company and the sector it belongs to

2. The denominator in P/E ratio is the ‘Earnings’, and the earnings can be manipulated

3. Make sure the company is not changing its accounting policy too often - this is one of the
ways the company tries to manipulate its earnings.

4, Pay attention to the way depreciation is treated. Provision for lesser depreciation can
boost earnings

5. If the company’s earnings are increasing but not its cash flows and sales, then clearly
something is not right

11.2 - The Index Valuation

Just like a stock, the stock market indices such as the BSE Sensex and the CNX Nifty 50 have their
valuations which can be measured by the P/E ,P/B and Dividend Yield ratios. The Index valuation
is usually published by the stock exchanges on a daily basis. The index valuations give us a sense
of how cheap or expensive the market is trading at. To calculate the CNX Nifty 50 P/E ratio, the Na-
tional Stock Exchange combines the market capitalization for all the 50 stocks and divides that
amount by the combined earnings for all the 50 stocks. Tracking the Index P/E ratio, gives a sense
of the current state of market as perceived by the market participants. Here is the historical chart
of Nifty 50 P/E ratio* -
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*Source - Creytheon
From the P/E chart above, we can make a few important observations -

1. The peak Index valuation was 28x (early 2008), what followed this was a major crash in
the Indian markets

2. The corrections drove the valuation down to almost 11x (late 2008, early 2009). This was
the lowest valuation the Indian market had witnessed in the recent past

3. Usually the Indian Indices P/E ratio ranges between 16x to 20x, with an average of 18x
4. As of today (2014) we are trading around 22x, which is above the average P/E ratio

Based on these observations, the following conclusions can be made -

1. One has to be cautious while investing in stocks when the market’s P/E valuations is
above 22x

2. Historically the best time to invest in the markets is when the valuations are around 16x

or below.

One can easily find out Index P/E valuation on a daily basis by visiting the National Stock Ex-
change (NSE) website.

On NSE’s home page click on Products > Indices > Historical Data > P/E, P/B & Div > Search

In the search field enter today’s date and you will get the latest P/E valuation of the market. Do
note, the NSE updates this information around 6:00 PM every day.
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Here is a snapshot of the search result -

P/E, P/B & Div Yield values

Select the index you want:
Select Index: CNX NIFTY v
Select a time period: 13.11.2014 ™" To 12112012

Y PIEW P/B ¥ Div Yield ¥ All

Historical CNX NIFTY P/E, P/8 & Div. Yield values
For the period 13-11-2014 to 13-11-2014
Date P/E P/B
13-Nov-2014 21.26 3.53

Div Yield
1.27

Download file in csv format

Clearly as of today (13th Nov 2014) the Indian market is trading close to the higher end of the P/E
range; history suggests that we need to be cautious while taking investment decisions at this

level.
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Key takeaways from this chapter

1. Valuation in general, is the estimate of the ‘worth’ of something
2. Valuation ratios involves inputs from both the P&L statement and the Balance Sheet

3. The Price to Sales ratio compares the stock price of the company with the company’s
sales per share

« Sales per share is simply the Sales divided by the Number of shares

4. Sales of a company with a higher profit margin is more valuable in comparison to the
sales of a company with lower profit margins

5. If a company is going bankrupt, the ‘Book Value’ of a firm is simply the amount of money
left on table after the company pays off its obligations

6. Book value is usually expressed on a per share basis

7. The Price/BV indicates how many times the stock price is trading over and above the
book value of the firm

8. EPS measures the profitability of a company on a per share basis

9. The P/E ratio indicates the willingness of market participants to pay for a stock, keeping
the company’s earnings in perspective

10. One has to be cautious about the earning manipulation while evaluating the P/E ratio
11. The Indices have a valuation which can be measured by the P/E ,P/B or Dividend Yield ra-
tio

12. Itis advisable to exercise caution when the Index is trading at a valuation of 22x or
above

13. Avaluation gets attractive when the index is trading at 16x or below

14. The index valuations are published by NSE on their website on a daily basis
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CHAPTER 4

The Investment Due Diligence

12.1 - Taking stock

Over the last few chapters we understood how to read the financial statements and calculate a
few important financial ratios. These chapters have laid the foundation to the final objective of
this module which is — To use fundamental analysis to identify the stocks to invest. If you recol-
lect in the earlier chapters, we had discussed about investable grade attributes. Investable grade
attributes simply define the prerequisites of a company that needs to be validated before making
an investment decision. Think of the investable grade attributes as a checklist based on the fun-
damentals of the company. A company that satisfies most of the items in the checklist, is consid-
ered investment worthy.

Now this is where few differences come up. For instance, what | consider as an investable grade
attribute may not be so important to you. For example - | may pay a lot of attention to corporate
governance but another investor may choose not pay so much attention to corporate govern-
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ance. He could simply brush it off saying “all companies have shades of grey, as long as the num-
bers add up | am fine investing in the company”.

So the point is, there is no prescribed checklist. Each investor has to build his own checklist
based on his investment experience. However, one has to ensure that each item on the checklist
is qualified based on sound logic. Later in this chapter, | will share a checklist that | think is rea-
sonably well curated. You could take pointers from this checklist, if you are starting out fresh. We
will keep this checklist as a guideline and proceed further in this module.

12.2 - Generating a stock idea

Now before we proceed further and generate a checklist, we must address a more basic issue.
The process of investing requires us to first select a stock that looks interesting. After selecting
the stock we must subject it to the checklist to figure out if the stock matches all the checklist cri-
teria, if it does we invest, else we look for other opportunities.

So in the first place, how do we even select a stock that looks interesting? In other words, how do
we generate a list of stocks that seems interesting enough to investigate further? Well, there are a
few methods to do this -

1. General Observation - This may sound rudimentary, but believe me this is one of the
best ways to develop a stock idea. All you need to do is keep your eyes and ears open and
observe the economic activity around you. Observe what people are buying and selling, see
what products are being consumed, keep an eye on the neighborhood to see what people
are talking about. In fact Peter Lynch, one of the most illustrious Wall Street investor advo-
cates this method in his book “One up on Wall Street”. Personally | have used this method to
pick some of my investments - PVR Cinemas Ltd (because | noticed PVR multiplexes mush-
rooming in the City), Cummins India Limited (because | noticed most of the buildings had a
Cummins diesel generator in their premises), and Info Edge Limited (Info Edge owns
naukri.com, which is probably the most preferred job portal).

2. Stock screener - A stock screener helps to screen for stocks based on the parameters you
define and therefore helps investors perform quality stock analysis .For example you can
use a stock screener to identify stocks that have a ROE of 25% along with PAT margins of
20%. A stock screener is very helpful tool when you want to shortlist a handful of invest-
ment ideas from a big basket of stocks. There are many stock screeners available; | person-
ally like the Google finance’s stock screener and screener.in.
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3. Macro Trends - Keeping a general tab on the macroeconomic trend is a great way of iden-
tifying good stocks. Here is an illustration of the same - As of today there is a great push for
infrastructure projects in India. An obvious beneficiary of this push would be the cement
companies operating in India. Hence, | would look through all the cement companies and
apply the checklist to identify which amongst all the cement companies are well positioned
to leverage this macro trend.

4. Sectoral Trends - This is sector specific. One needs to track sectors to identify emerging
trends and companies within the sector that can benefit from it. For example the non alco-
holic beverages market is a very traditional sector. Mainly, three kinds of products are sold
and they are coffee, tea, and packaged water. Hence, most of the companies manufacture
and sell just these three products. However there is a slight shift in the consumer taste these
days - the market for energy drink is opening up and it seems to be promising. Hence the in-
vestor may want to check for companies within the sector that is best positioned to lever-
age this change and adapt to it.

5. Special Situation - This is a slightly complicated way of generating a stock idea. One has
to follow companies, company related news, company events etc to generate an idea based
on special situation. One example that | distinctly remember was that of Cox & Kings. You
may know that Cox & Kings is one of the largest and the oldest tour operator in India. In late
2013, the company announced inclusion of Mr.Keki Mistry (from HDFC Bank) to its advisory
board. Corporate India has an immense respect for him as he is known to be a very transpar

ent and efficient business professional. A colleague of mine was convinced that Cox & Kings
would benefit significantly with Mr. Keki Mistry on its board. This alone acted as a primary
trigger for my colleague to investigate the stock further. Upon further research my colleague
happily invested in Cox & Kings Limited. Good for my him, as | write this today | know he is
sitting on a 200% gain.

6. Circle of Competence - This is where you leverage your professional skills to identify
stock ideas. This is a highly recommended technique for a newbie investor. This method re-
quires you to identify stocks within your professional domain. For example, if you are a
medical professional your circle of competence would be the healthcare industry. You will
probably be a better person to understand that industry than a stock broker or an equity re-
search analyst. All you need to do is identify which are the listed companies in this space
and pick the best based on your assessment. Likewise if you are banker, you will probably
know more about banks than the others do. So, leverage your circle of competence to pick
your investments.
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The pointis that the trigger for investigating stocks may come from any source. In fact, as and
when you feel a particular stock looks interesting, just add it to your list. This list over time will be
your ‘watch list’. A very important thing to note here is that a stock may not satisfy the checklist
items at a particular time, however as the time progresses, as business dynamics change at some
point it may match up to the checklist. Hence, it is important to evaluate the stocks in your watch
list from time to time.

12.3 - The Moat

After selecting a stock, one has to run the checklist to investigate the stock further. This is called
the “Investment due diligence”. The due diligence process is very critical and one has to ensure
maximum attention is paid to each and every aspect of this exercise. | will shortly present a check-
list that | think is reasonable. But before that, we need to talk about ‘The Moat’.

Moat (or economic moat) is a term that was popularized by Warren Buffet. The term simply refers
to the company’s competitive advantage (over its competitors). A company with a strong moat,
ensures the company’s long term profits are safeguarded. Of course the company should not
only have a moat, but it should also be sustainable over a long period of time. A company which
possesses wider moat characteristics (such as better brand name, pricing power, and better mar-
ket share) would be more sustainable, and it would be difficult for the company’s rivals to eat
away its market share.

To understand moats, think of “Eicher Motors Limited”. Eicher Motors is a major Indian automo-
bile manufacturer. It manufactures commercial vehicles along with the iconic Royal Enfield bikes.
The Royal Enfield bikes enjoy a huge fan following both in India and outside India. It has a mas-
sive brand recall. Royal Enfield caters to a niche segment which is growing fast. Their bikes are
not as expensive as the Harley Davidson nor are they as inexpensive as probably the TVS bikes. It
would be very hard for any company to enter this space and shake up or rattle the brand loyalty
that Royal Enfield enjoys. In other words, displacing Eicher Motors from this sweet spot will re-
quire massive efforts from its competitors. This is one of Eicher Motors’ moat.
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There are many companies that exhibit such interesting moats. In fact true wealth creating com-
panies have a sustainable moat as an underlying factor. Think about Infosys - the moat was labor
arbitrage between US and India, Page Industries - the moat was manufacturing and distribution
license of Jockey innerwear, Prestige Industries - the moat was manufacturing and selling pres-
sure cookers, Gruh Finance Limited - the moat was small ticket size credits disbursed to a certain
market segment...so on an so forth. Hence always invest in companies which have wider eco-
nomic moats.

12.4 - The Due Diligence

The equity research due diligence process involves the following stages -
1. Understanding the business - requires reading the annual reports
2. Application of the checklist and
3. Valuation - to estimate the intrinsic value of the business

In stage 1 i.e Understanding the business we dwell deep into the business with a perspective of
knowing the company inside out. We need to make a list of questions for which we need to find
answers to. A good way to start would be by posting a very basic question about the company -
What business is the company involved in?

To find the answer, we do not go to Google and search, instead look for it in the company’s latest
Annual Report or their website. This helps us understand what the company has to say about
themselves.

When it comes to my own investing practice, | usually like to invest in companies where the com-
petition is less and there is very little government intervention. For example, when | decided to
invest in PVR Cinemas, there were only 3 listed players in that space. PVR, INOX, and Cinemax.
PVR and Cinemax merged leaving just 2 listed companies in that space. However, there are a few
new players who have entered this space now, hence it is time for me to re evaluate my invest-
ment thesis in PVR.

Once we are comfortable knowing the business, we move to stage 2 i.e application of the check-
list. At this stage we get some performance related answers. Without much ado, here is the 10
point checklist that | think is good enough for a start -
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Gross Profit Margin

Higher the margin, higher is the

1 >20% ] .
(GPM) evidence of a sustainable moat
_ ) ) _ Revenue growth should be in line
2 Net Profit Growth In line with the gross profit growth . ,
with the profit growth
) , If a company is diluting its equity
EPS should be consistent with the Net o _
3 EPS i then itis not good for its
Profits
shareholders
High debt means the company is
A Debt Level Company should not be highly operating on a high leverage. Plus
leveraged the finance cost eats away the
earnings
A growing inventory along with a
Applicable for manufacturing growing PAT margin is a good sign.
5 Inventory ) )
companies Always check the inventory
number of days
) ) This signifies that the company is
) Sales backed by receivables is not a _ o
6 Sales vs Receivables ) just pushing its products to show
great sign
revenue growth
If the company is not generatin
Cash flow from o pany _ & . &
7 . Has to be positive cash from operations then it
operations - .
indicates operating stress
Higher the ROE, better it is for the
_ investor, however make sure you
8 Return on Equity >25% )
check the debt levels along with
this
Avoid companies that have
Business Diversity ) _ ) multiple business interests. Stick
9 1 or 2 simple business lines ) _
to companies that operatein 1 or 2
segments
If there are too many subsidiaries
then it could be a sign of the
10 Subsidiary Not many company siphoning off money. Be
cautious while investing in such
companies.
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Lastly, a company could satisfy each and every point mentioned in the checklist above, but if the
stock is not trading at the right price in the market, then there is no point buying the stock. So how
do we know if the stock is trading at the right price or not? Well, this is what we do in stage 3. We
need to run a valuation exercise on the stock. The most popular valuation method is called the
“Discounted Cash Flow (DCF) Analysis”.

Over the next few chapters, we will discuss the framework to go about formally researching the
company. This is called “Equity Research”. The focus of our discussion on equity research will
largely be on Stage 2 and 3, as | believe stage 1 involves reading up the annual report in a fairly de-

tailed manner.
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Key takeaways from this chapter

1. A stock idea can come from any source

« Circle of competence and General observation is a great way to start
2. Itis advisable to have a watch list which includes stocks that look interesting
3. Once a stock is identified we should look for sustainable moats

4. The due diligence process involves understanding the business, running the checklist to
understand its financial performance, and the valuation exercise

5. When it comes to understanding the business, one should be completely thorough with
the business operations of the company

6. The checklist should be improvised as and when the investor gains investment experi-
ence

7. The DCF method is one of the best techniques to identify the intrinsic value of the busi-
ness
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CHAPTER 5

Equity Research (Part 1)

13.1 - What to expect?

Having set the context in the previous chapter, we will now proceed to develop a methodology

for conducting a ‘limited resource’ equity research. The reason why I call it ‘limited resource’ is be-
cause you and | as a retail investor have access to just few resources to conduct equity research.
These resources are - internet, company annual report, and MS Excel. Whilst an Institution has
access to human resource (analyst), access to company management, financial data base (such
as Bloomberg, Reuters, Factset etc), industry reports etc. So my objective here is to demonstrate
how one can understand a company and its business better with the limited resources at hand.

Of course we will do this exercise keeping the end objective in perspective i.e to make a decision
on whether to buy or not to buy a stock.

As mentioned in the previous chapter, we will structure the equity research process in 3 stages-

1. Understanding the Business
2. Application of the checklist
3. Intrinsic Value estimation (Valuation) to understand the fair price of the stock

Each stage mentioned above has several steps within it. One must understand that there is no
shortcut to this and one must not compromise any of these steps.

13.2 - Stock Price vs Business Fundamentals

When we take up a company for research, the first step is to understand the business as much as
possible. People often miss this crucial step and go directly into the stock price analysis. Well, just
analyzing the stock price is great if you have a short term perspective. However for long term in-
vestments, understanding the business is essential.

Why is it important you may wonder? Well, the reason is simple, the more you know the company
the higher is your conviction to stay put with the investment especially during bad times (aka
bear markets). Remember during bear markets, the prices react and not the business fundamen-
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tals. Understanding the company and its business well gives you the required conviction to rea-
son out why it makes sense to stay invested in the stock even though the market may think other-
wise. They say bear markets creates value, so if you have a high conviction on the company you
should consider buying into the stock during bear markets and not really selling the stock. Need-
less to say, this is highly counter intuitive and it takes years of investment practice to internalize
this fact.

Anyway, moving ahead the best source to get information related to the business is the com-
pany’s website and its annual report. We need to study at least the last 5 year annual report to un-
derstand how the company is evolving across business cycles.

13.3- Understanding the Business

As a first step towards understanding the business, we need to make a list of questions for which
we need to find answers to. Do note, the answers to all these questions can be found out by read-
ing through the company’s annual report and website.

Here are a bunch of questions that | think helps us in our quest to understand the business. | have
discussed the rationale behind each question.
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What does the company do?

To get a basic understanding of the business

Who are its promoters? What are their
backgrounds?

To know the people behind the business. A
sanity check to eliminate criminal
background, intense political affiliation etc

What do they manufacture (in caseitis a
manufacturing company)?

To know their products better, helps us get a
sense of the product’s demand supply
dynamics

How many plants do they have and where

are they located?

To get a sense of their geographic presence.
Also at times their plants could be located in a
prime location, and the value of such location

could go off balance sheet, making the
company highly undervalued

Are they running the plant in full capacity?

Gives us an idea on their operational abilities,
demand for their products, and their
positioning for future demand

What kind of raw material is required?

Helps us understand the dependency of the
company. For example the raw material could
be regulated by Govt (like Coal) or the raw
material needs to be imported either of which
needs further investigation

Who are the company’s clients or end

users?

By knowing the client base we can get a sense
of the sales cycle and efforts required to sell
the company’s products

Who are their competitors?

Helps in knowing the competitors. Too many
competing companies means margin
pressure. In such a case the company has to
do something innovative. Margins are higher if
the company operates in - monopoly,

duopoly, or oligopoly market structure

Who are the major shareholders of the

company?

Besides the promoter and promoter group, it
helps to know who else owns the shares of the
company. If a highly successful investor holds

the shares in the company then it could be a

good sign
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Gives a sense on how ambitious and innovative

the company is. While at the same time a

10 Do they plan to launch any new products? company launching products outside their
domain raises some red flags - is the company
losing focus?
Do they plan to expand to different )
11 _ Same rational as above
countries?
Helps us understand which segment (and
b What is the revenue mix? Which product | therefore the product) is contributing the most
sells the most? to revenue. This in turns helps us understand
the drivers for future revenue growth
This is both good and bad - Good because it
acts a natural barrier from new competition to
Do they operate under a heavy regulatory o
13 . enter the market, bad because they are limited
environment? . : : L ,
with choices when it comes to being innovative
in the industry
Good to know, and to rule out the possibility of
14 Who are their bankers, auditors? the companies association with scandalous
agencies
Gives us a sense of how labor intensive the
15 How many employees do they have? Does | company’s operations are. Also, if the company
the company have labor issues? requires a lot of people with niche skill set then
this could be another red flag
. Helps us understand how easy or difficult it is
What are the entry barriers for new _
16 o _ for new companies to enter the market and eat
participants to enter the industry? .
away the margins
_ If yes, the company maybe sitting on a time
Is the company manufacturing products y . pany may . & _
_ _ ) bomb - think about companies manufacturing
17 that can be easily replicated in a country )
. computer hardware, mobile handsets,
with cheap labor?
garments etc
Does the company have too many . -
S If yes, you need to question why? Is it a way for
18 subsidiaries?

the company to siphon off funds?
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These questions are thought starters for understanding any company. In the process of finding an-
swers you will automatically start posting new questions for which you will have to find answers
to. It does not matter which company you are looking at, if you follow this Q&A framework I’'m
very confident your understanding of the company would drastically increase. This is because the
Q&A process requires you to read and dig out so much information about the company that you
will start getting a sense of greater understanding of the company.

Remember, this is the first step in the equity research process. If you find red flags (or something
not right about the company) while discovering the answers, | would advise you to drop research-
ing the company further irrespective of how attractive the business looks. In case of a red flag,
there is no point proceeding to stage 2 of equity research.

From my experience | can tell you that stage 1 of equity research i.e ‘Understanding the Com-
pany’ takes about 15 hours. After going through this process, | usually try to summarize my
thoughts on a single sheet of paper which would encapsulate all the important things that | have
discovered about the company. This information sheet has to be crisp and to the point. If ’'m un-
able to achieve this, then it is a clear indication that | do not know enough about the company.
Only after going through stage 1, | proceed to stage 2 of equity research, which is “Application of
Checklist”. Please do bear in mind the equity research stages are sequential and should follow
the same order.

We will now proceed to stage 2 of equity research. The best way to understand stage 2 is by actu-
ally implementing the checklist on a company.

We have worked with Amara Raja Batteries Limited (ARBL) throughout this module, hence | guess
it makes sense to go ahead and evaluate the checklist on the same company. Do remember, the
company may differ but the equity research framework remains the same.

As we proceed, a word of caution at this point - the discussion going forward will mainly revolve
around ARBL as we will understand this company better. The idea here is not to showcase how
good or bad ARBL is but instead to illustrate a framework of what | perceive as a ‘fairly adequate’
equity research process.

13.4 - Application of checklist

The stage 1 of equity research process helps us understand the how, what, who, and why of the
business. It helps us develop a holistic view on the company. However, like they say - the proof of
the pudding is in the eating; so no matter how attractive the business looks the numbers of the
company should also look attractive.
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The objective of the 2nd stage of equity research is to help us comprehend the numbers and actu-
ally evaluate if both the nature of the business and the financial performance of the business com-
plement each other. If they do not complement each other then clearly the company will not qual-
ify as investible grade.

We looked at the checklist in the previous chapter; I'll reproduce the same here for quick refer-
ence.

, In line with the Revenue growth should be in line
1 Net Profit Growth , , ,
gross profit growth with the profit growth
EPS should be If a company is diluting its equity
2 EPS consistent with the then itis not good for its
Net Profits shareholders
Gross Profit Higher the margin, higher is the
3 _ >20% , _
Margin (GPM) evidence of a sustainable moat

High debt means the company is
Company should , ,
Debt Level _ operating on a high leverage. Plus
4 not be highly

the finance cost eats away the
leveraged

earnings

_ A growing inventory along with a
Applicable for : . .
growing PAT margin is a good sign.

5 Inventory manufacturing _
_ Always check the inventory number
companies
of days
Sal Sales backed by This signifies that the company is
alesvs
6 , receivablesis not a just pushing its products to show
Receivables

great sign revenue growth

If the company is not generating
Cash flow from . , ,
7 , Has to be positive cash from operations then it
operations o _
indicates operating stress

Higher the ROE, better it is for the
8 Return on Equity >25% investor, however make sure you
check the debt levels along with this
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Let us go ahead and evaluate each of the checklist items on Amara Raja Batteries and see what
the numbers are suggesting. To begin with we will look into the P&L items - Gross Profit, Net

Profit, and EPS of the company.

Revenue & Pat Growth

The first sign of a company that may qualify as investable grade is the rate at which it is grow-
ing. To evaluate the growth the company, we need to check the revenue and PAT growth. We

will evaluate growth from two perspectives -

1.Year on Year growth - this will gives us a sense of progress the company makes on a
yearly basis. Do note, industries do go through cyclical shifts. From that perspective if a
company has a flat growth, it is ok. However just make sure you check the competition as

well to ensure the growth is flat industry wide.

2.Compounded Annual Growth Rate (CAGR) - The CAGR gives us a sense of how the com-
pany is evolving and growing across business cycles. A good, investable grade company is
usually the first company to overcome the shifts in business cycles. This will eventually re-

flectin a healthy CAGR.

Personally I prefer to invest in companies that are growing (Revenue and PAT) over and above
15% on a CAGR basis.

Let us see how ARBL fares here...

Revenue
1481 1769 2392 3005 3482
(INR Crs)
Revenue
19.4% 35.3% 25.6% 15.9%
Growth
PAT (INR
167 148 215 287 367
Crs)
PAT
(11.3%) 45.2% 33.3% 27.8%
Growth

The 5 year CAGR revenue growth is 18.6% and the 5 year CAGR PAT growth is 17.01%. These are
an interesting set of numbers; they qualify as a healthy set of numbers. However, we still need

to evaluate the other numbers on the checklist
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Earnings per Share (EPS)

The earnings per share represent the profitability on a per share basis. The EPS and PAT growing at
a similar rate indicates that the company is not diluting the earnings by issuing new shares, which is
good for the existing shareholders. One can think of this as a reflection of the company’s manage-

ment’s capabilities.

EPS (In INR) 19.56 17.34 12.59 16.78 21.51

Share
Cap(INR Crs)

17.08 17.08 17.08 17.08 17.08

EPS Growth
- -11.35% -27.39% 33.28% 28.18%

The 5 year EPS CAGR stands at 1.90% for the FY14.

Gross Profit margins

Gross profit margins, expressed as a percentage is calculated as a -
Gross Profits / Net Sales

Where,

Gross Profits = [Net Sales - Cost of Goods Sold]

Cost of goods sold is the cost involved in making the finished good, we had discussed this calcula-
tion while understanding the inventory turnover ratio. Let us proceed to check how ARBL’s Gross
Profit margins has evolved over the years.
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Net Sales 1464 1757 2359 2944 3404

COGS 1014 1266 1682 2159 2450

Gross Profits 450 491 677 785 954

Gross Profit

) 30.7% 27.9% 28.7% 26.7% 28.0%
Margins

Clearly the Gross Profit Margins (GPM) looks very impressive. The checklist mandates a minimum
GPM of 20%. ARBL has a much more than the minimum GPM requirement. This implies a couple
of things -

1. ARBL enjoys a premium spot in the market structure. This maybe because of the absence
of competition in the sector, which enables a few companies to enjoy higher margins

2. Good operational efficiency, which in turn is a reflection of management’s capabilities
Debt level - Balance Sheet check

The first three points in the checklist were mainly related to the Profit & Loss statement of the
company. We will now look through a few Balance sheet items. One of the most important line
item that we need to look at on the Balance Sheet is the Debt. An increasingly high level of debt
indicates a high degree of financial leverage. Growth at the cost of financial leverage is quite dan-
gerous. Also do remember, a large debt on balance sheets means a large finance cost charge. This
eats into the retained earnings of the firm.

Here is how the debt stands for ARBL -

Debt( INR Crs) Evaluation -

Debt 91.19 95.04 84.07 87.17 84.28
EBIT 261 223 321 431 541
Debt/EBIT(%) 35% 42.61% 26.19% 20.22% 15.57%
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The debt seems to have stabilized around 85Crs. In fact it is encouraging to see that the debt
has come down in comparison to the FY 09-10. Besides checking for the interest coverage ratio
(which we have discussed previously) | also like to check the debt as a percent of ‘Earnings be-
fore interest and taxes’ (EBIT). This just gives a quick perspective on how the company is manag-
ing its finance. We can see that the Debt/EBIT ratio has consistently reduced.

| personally think ARBL has done a good job here by managing its debt level efficiently.

Inventory Check

Checking for the inventory data makes sense only if the company under consideration is a
manufacturing company. Scrutinizing the inventory data helps us in multiple ways -

1. Raising inventory with raising PAT indicates are signs of a growing company

2. A stable inventory number of days indicates management’s operational efficiency to
some extent

Let us see how ARBL fares on the inventory data -

Inventory (INR

217.6 284.7 266.6 292.9 335.0
Crs)
Inventory Days 68 72 60 47 47
PAT (INR Crs) 167 148 215 287 367

The inventory number of days is more or less stable. In fact it does show some sign of a slight
decline. Do note, we have discussed the calculation of the inventory number of days in the previ-
ous chapter. Both the inventory and PAT are showing a similar growth signs which is again a
good sign.

Sales vs Receivables

We now look at the sales number in conjunction to the receivables of the company. A sale
backed by receivables is not an encouraging sign. It signifies credit sales and therefore many
questions arise out of it. For instance - are the company sales personal force selling products
on credit? Is the company offering attractive (but not sustainable) credit to suppliers to push
sales?
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Net Sales(INR

1464 1758 2360 2944 3403
Crs)
Receivables
242.3 305.7 319.7 380.7 452.6
(INR Crs)
Receivables as
as a% of Net 16.5% 17.4% 13.5% 12.9% 13.3%

Sales

The company has shown stability here. From the table above we can conclude a large part of their
sales is not really backed back receivables, which is quite encouraging. In fact, just liked the inven-
tory number of days, the receivables as % of net sales has also showed signs of a decline, which is
quite impressive.

Cash flow from Operations

Thisis in fact one of the most important checks one needs to run before deciding to investin a
company.

The company should generate cash flows from operations; this is in fact where the proof of the
pudding lies. Acompany which is draining cash from operations raises some sort of red flag.

Cash flow
from 214.2 86.1 298.4 3354 278.7
Operations

The cash flow from operations though a bit volatile has remained positive throughout the last 5
years. This only means ARBL’s core business operations are generating cash and therefore can be
considered successful.

Return on Equity

We have discussed at length about Return on Equity in chapter 9 of this module. | would encour-
age you to go through it again if you wish to refresh. Return on Equity (ROE) measures in percent-
age the return generated by the company keeping the shareholders equity in perspective. In a
sense ROE measures how successful the promoters of the company are for having invested their
own funds in the company.
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Here is how ARBL’s ROE has fared for the last 5 years -

PAT 167 148 215 287 367
Shareholders’
_ 543.6 645.7 823.5 1059.8 1362.7
Equity
ROE 30.7% 22.9% 26.1% 27.1% 27.0%

These numbers are very impressive. | personally like to invest in companies that have a ROE of
over 20%. Do remember, in case of ARBL the debt is quite low, hence the good set of return on eg-

uity numbers is not backed by excessive financial leverage, which is again highly desirable.

Conclusion

Remember we are in stage 2 of equity research. | see ARBL qualifying quite well on almost all the
required parameters in stage 2. Now, you as an equity research analyst have to view the output of
stage 2 in conjunction with your finding from stage 1 (which deals with understanding the busi-
ness). If you are able to develop a comfortable opinion (based on facts) after these 2 stages, then
the business surely appears to have investable grade attributes and therefore worth investing.

However before you go out and buy the stock, you need to ensure the price is right. This is exactly

what we do in stage 3 of equity research.
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Key takeaways from this chapter

1. ‘Limited Resource’ Equity Research can be performed in 3 stages
a. Understanding the Business
b. Application of the checklist
c. Valuations

2. The objective of the stage 1 i.e understanding the business requires us to gather all infor-
mation related to the business. The best way to go about this is the Q&A way

3. In the Q&A way, we begin with posting some simple and straightforward questions for
which we find answers

4. By the time we finish stage 1, we should be through with all the information related to the
business

5. Most of the answers required in stage 1 is present in the company’s annual report and
website

6. Do remember while researching the company in stage 1, if there is something not very
convincing about the company, it is often a good idea to stop researching further

7. Itis very important for you get convinced (based on true facts) about the company in
stage 1. This is how you will develop a strong conviction to stay put during bear markets

8. Stage 2 of Equity Research requires you to evaluate the performance of the company on
various counts.

9. You will proceed to stage 3 only after the company clears in stage 1 & 2.
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CHAPTER 6

DCF Primer

14.1 - The Stock Price

In the previous chapter we understood stage 1 and stage 2 of equity research. Stage 1 dealt with
understanding the business and stage 2 dealt with understanding the financial performance of
the company. One can proceed to stage 3, only if he is convinced with the findings of both the ear-
lier stages. Stage 3 deals with the stock price valuation.

An investment is considered a great investment only if a great business is bought at a great price.
In fact, | would even stretch to say that it is perfectly fine to buy a mediocre business, as long as
you are buying it at a great price. This only shows the significance of ‘the price’ when it comes to
investing.

The objective of the next two chapters is to help you understand “the price”. The price of a stock
can be estimated by a valuation technique. Valuation per say helps you determine the ‘intrinsic
value’ of the company. We use a valuation technique called the “Discounted Cash Flow (DCF)”
method to calculate the intrinsic value of the company. The intrinsic value as per the DCF method
is the evaluation of the ‘perceived stock price’ of a company, keeping all the future cash flows in
perspective.

The DCF model is made up of several concepts which are interwoven with one another. Naturally
we need to understand each of these concepts individually and then place it in the context of
DCF. In this chapter we will understand the core concept of DCF called “The Net Present Value
(NPV)” and then we will proceed to understand the other concepts involved in DCF, before under-
standing the DCF as a whole.
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14.2 - The future cash flow

The concept of future cash flow is the crux of the DCF model. We will understand this with the help of
a simple example.

Assume Vishal is a pizza vendor who serves the best pizza’s in town. His passion for baking pizzas
leads him to an innovation. He invents an automatic pizza maker which automatically bakes pizzas.
All he has to do is, pour the ingredients required for making a pizza in the slots provided and within 5
minutes a fresh pizza pops out. He figures out that with this machine, he can earn an annual revenue
of Rs.500,000/- and the machine has a life span of 10 years.

His friend George is very impressed with Vishal’s pizza machine. So much so that, George offers to
buy this machine from Vishal. Now here is a question for you - What do you think is the minimum
price that George should pay Vishal to buy this machine? Well, obviously to answer this question we
need to see how economically useful this machine is going to be for George. Assuming he buy this
machine today (2014), over the next 10 years, the machine will earn him Rs.500,000/- each year.

Here is how George’s cash flow in the future looks like -

5,00,000 | 5,00,000 | 5,00,000 | 5,00,000 | 5,00,000| 5,00,000 | 5,00,000 | 5,00,000  5,00,000 | 5,00,000
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Do note, for the sake of convenience, | have assumed the machine will start generating cash start-
ing from 2015.

Clearly, George is going to earn Rs.50,00,000/- (10 x 500,000) over the next 10 years, after which
the machine is worthless. One thing is clear at this stage, whatever is the cost of this machine, it
cannot cost more than Rs.50,00,000/-. Think about it - Does it make sense to pay an entity a price
which is more than the economic benefit it offers?

To go ahead with our calculation, assume Vishal asks George to pay “Rs.X” towards the machine.
At this stage, assume George has two options - either pay Rs.X and buy the machine or invest the
same Rs.Xin a fixed deposit scheme which not only guarantees his capital but also pays him an
interest of 8.5%. Let us assume that George decides to buy the machine instead of the fixed de-
posit alternative. This implies, George has foregone an opportunity to earn 8.5% risk free interest.
This is the ‘opportunity cost’ for having decided to buy the machine.

So far, in our quest to price the automatic pizza maker we have deduced three crucial bits of infor-
mation -

1. The total cash flow from the pizza maker over the next 10 years - Rs.50,00,000/-

2. Since the total cash flow is known, it also implies that the cost of the machine should be
less than the total cash flow from the machine

3. The opportunity cost for buying the pizza machine is, an investment option that earns
8.5% interest

Keeping the above three points in perspective, let us move ahead. We will now focus on the cash
flows. We know that George will earn Rs.500,000/- every year from the machine for the next 10
years. So think about this - George in 2014, is looking at the future -

1. How much is the Rs.500,000/- that he receives in 2016 worth in today’s terms?
2. How much is the Rs.500,000/- that he receives in 2018 worth in today’s terms?
3. How much is the Rs.500,000/- that he receives in 2020 worth in today’s terms?
4. To generalize, how much is the cash flow of the future worth in today’s terms?

The answer to these questions lies in the realms of the “Time value of money”. In simpler
words, if | can calculate the value of all the future cash flows from that machine in terms of to-
day’s value, then | would be in a better situation to price that machine.

Please note - in the next section we will digress/move away from the pizza problem, but we will
eventually get back to it.
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14.3 - Time Value of Money (TMV)

Time value of money plays an extremely crucial role in finance. The TMV finds its application in
almost all the financial concepts. Be it discounted cash flow analysis, financial derivatives pric-
ing, project finance, calculation of annuities etc, the time value of money is applicable. Think of
the ‘Time value of money’ as the engine of a car, with the car itself being the “Financial World”.

The concept of time value of money revolves around the fact that, the value of money does not
remain the same across time. Meaning, the value of Rs.100 today is not really Rs.100, 2 years from
now. Inversely, the value of Rs.100, 2 years from now is not really Rs.100 as of today. Whenever
there is passage of time, there is an element of opportunity. Money has to be accounted (ad-
justed) for that opportunity.

If we have to evaluate, what would be the value of money that we have today sometime in the fu-
ture, then we need to move the ‘money today’ through the future. This is called the “Future
Value (FV)” of the money. Likewise, if we have to evaluate the value of money that we are ex-
pected to receive in the future in today’s terms, then we have to move the future money back to
today’s terms. This is called the “Present Value (PV)” of money.

In both the cases, as there is a passage of time, the money has to be adjusted for the opportunity
cost. This adjustment is called “Compounding” when we have to calculate the future value of
money. Itis called “Discounting” when we have to calculate the present value of money.

Without getting into the mathematics involved (which by the way is really simple) | will give you
the formula required to calculate the FV and PV.

Example 1 - How much is Rs.5000/- in today’s terms (2014) worth five years later assuming an op-
portunity cost of 8.5%?

This is a case of Future Value (FV) computation, as we are trying to evaluate the future value of
the money that we have today -

Future Value = Amount * (1+ opportunity cost rate) » Number of years.
=5000 *(1+8.5%) "5

=7518.3

This means Rs.5000 today is comparable with Rs.7518.3 after 5 years, assuming an opportunity
cost of 8.5%.

zerodha.com/varsity


http://www.zerodha.com/varsity
http://www.zerodha.com/varsity

Example 2 - How much is Rs.10,000/- receivable after 6 years, worth in today’s terms assuming
an opportunity cost of 8.5%?

This is clearly the case of Present Value (PV) computation as we are trying to evaluate the present
value of cash receivable in future in terms of today’s value.

Present Value = Amount / (1+Discount Rate) » Number of years
=10,000/ (1+8.5% ) A 6

=6129.5

This means Rs.10,000/- receivable after 6 years in future is comparable to Rs.6,129.5 in today’s
terms assuming a discount rate of 8.5%.

Example 3 - If | reframe the question in the first example - How much is Rs.7518.3 receivable in 5
years worth in today’s terms given an opportunity cost @ 8.5%?

We know this requires us to calculate the present value. Also, since we have done the reverse of
this in example 1, we know the answer should be Rs.5000/- . Let us calculate the present value to
check this -

=7518.3/(1+8.5%) A5
= 5000.0

Assuming you are clear with the concept of time value of money, | guess we are now equipped to
go back to the pizza problem.

14.4 — The Net Present Value of cash flows

We are still in the process of evaluating the price of the pizza machine. We know George is enti-
tled to receive a stream of cash flows (by virtue of owning the pizza machine) in the future. The
cash flow structure is as follows

5,00,000 | 5,00,000 | 5,00,000 | 5,00,000 | 5E+05 | 5,00,000 | 5,00,000 | 5,00,000  5,00,000 | 5,00,000
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We posted this question earlier, let me repost it again - How much is the cash flow of the fu-
ture worth in today’s terms?

As we can see, the cash flow is uniformly spread across time. We need to calculate the present
value of each cash flow (receivable in the future) by discounting it with the opportunity cost.

Here is a table that calculates the PV of each cash flow keeping the discount rate of 8.5% -

2015 5,00,000 1 460829
2016 5,00,000 2 424808
2017 5,00,000 3 391481
2018 5,00,000 4 360802
2019 5,00,000 5 332535
2020 5,00,000 6 306485
2021 5,00,000 7 282470
2022 5,00,000 8 260335
2023 5,00,000 9 239946
2024 5,00,000 10 221151
Total 50,00,000 32,80,842

The sum of all the present values of the future cash flow is called “The Net Present Value
(NPV)”. The NPV in this case is Rs. 32,80,842. This also means, the value of all the future cash
flows from the pizza machine in today’s terms is Rs. 32,80,842. So if George has to buy the pizza
machine from Vishal, he has to ensure the price is Rs. 32,80,842 or lesser, but definitely not
more than that and this is roughly how much the pizza machine should cost George.

Now, think about this - What if we replace the pizza machine with a company? Can we discount
all future cash flows that the company earns with an intention to evaluate the company’s stock
price? Yes, we can and in fact this is exactly what will we do in the “Discounted Cash Flow”
model.
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Key takeaways from this chapter

1. A valuation model such as the DCF model helps us estimate the price of a stock
2. The DCF model is made up of several inter woven financial concepts

3. The ‘Time Value of Money’ is one of the most crucial concept in finance, as it finds its ap-
plication in several financial concepts including the DCF method

4. The value of money cannot be treated the same across the time scale - which means the
value of money in today’s terms is not really the same at some point in the future

5. To compare money across time we have to ‘time travel the money’ after accounting for
the opportunity cost

6. Future Value of money is the estimation of the value of money we have today at some
pointin the future

7. Present value of money is the estimation of the value of money receivable in the future in
terms of today’s value

8. The Net Present Value (NPV) of money is the sum of all the present values of the future
cash flows
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CHAPTER 7

Equity Research (Part 2)

15.1 - Getting started with the DCF Analysis

We discussed about “The Net Present Value (NPV)” in the previous chapter. NPV plays a very im-
portant role in the DCF valuation model. Having understood this concept, we now need to under-
stand a few other topics that are related to DCF valuation model. In fact, we will learn more about
these concepts by implementing the DCF model on Amara Raja Batteries Limited (ARBL). With
this, we will conclude the 3rd stage of Equity Research i.e ‘The Valuation’.

In the previous chapter in order to evaluate the price of the pizza machine, we looked at the fu-
ture cash flows from the pizza machine and discounted them back to get the present value. We
added all the present value of future cash flows to get the NPV. Towards the end of the previous
chapter we also toyed around with the idea -What will happen if the pizza machine is replaced by
the company’s stock? Well, in that case we just need an estimate of the future cash flows from the
company and we will be in a position to price the company’s stock.

But what cash flow are we talking about? And how do we forecast the future cash flow for a com-
pany?
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15.2 - The Free Cash Flow (FCF)

The cash flow that we need to consider for the DCF Analysis is called the “Free Cash flow (FCF)”
of the company. The free cash flow is basically the excess operating cash that the company gener-
ates after accounting for capital expenditures such as buying land, building and equipment. This
is the cash that shareholders enjoy after accounting for the capital expenditures. The mark of a
healthy business eventually depends on how much free cash it can generate.

Thus, the free cash is the amount of cash the company is left with after it has paid all its expenses
including investments.

When the company has free cash flows, it indicates the company is a healthy company. Hence in-
vestors often look out of such companies whose share prices are undervalued but who have high
or rising free cash flow, as they believe over time the disparity will disappear as the share price
will soon increase.

Thus the Free cash flow helps us know if the company has generated earnings in a year or not.
Hence as an investor to assess the company’s true financial health, look at the free cash flow be-
sides the earnings.

FCF for any company can be calculated easily by looking at the cash flow statement. The formula
is -

FCF = Cash from Operating Activities - Capital Expenditures

Let us calculate the FCF for the last 3 financial years for ARBL -

Cash from Operating Activities (after income
Rs.296.28 Crs Rs.335.46 Rs.278.7

tax)
Capital Expenditures Rs.86.58 Rs.72.47 Rs.330.3
Free Cash Flow (FCF) Rs.209.7 Rs.262.99 (Rs.51.6)
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Here is the snapshot of ARBL’s FY14 annual report from where you can calculate the free cash
flow -

Particulars Year ended Year ended
Maech 31,2014 March 31, 2013
ASH FLOW FROM OPERATING ACTIVITH
Profit before tax from continuing operations 530670 421817

Add/\Lezz) Adpstments for

3 Deprecaton 63609
b. Amorbzaton 11.04
C. Imparment o 7552
d. Net mcome on zake of tangle fwed assets 2.26 0.04
¢ Tangbile fived acsets wiitten off 2430 4427
f. Donaton of ingible fued asset 003
g. Interest pand on working captal et 003
roviaons and credt balance: wntten back 350 £.44
1. Bad debts wetten oM 3233 434
wpon for doubaful trade recerables and advaroe: (net {30 50 38 69
. :'\".1'7- AN On nectatemact - othere San Bomovwang: (net 338
n for leave encachment 1483 3343
m. Provinon for gratety 675 874
n. Mrowpon for warranty &0 22 614
Ovedend rece ved {14415 4527
p. Interest recerved on bank and other depocnts 3 9
q. Interest on ncome tax 6.70 03
ovizon for wealth tax 2.00 342 A8 83 $5¢ 40
Operating profit before working capital changes 3.705.18 481457
ASdLest) Adpssteants for worlung Gortal dhange:
2 Increace in wventones 42150 262.4)
b. Increaze in trade recer/ables 711.7 57
€. Incredde n loans and advances {44572 421.45
d. Incresiedecreiial i ade payable {77.73 45032
¢ Increscs in other current habdbes 34123 1.315 43 671 3¢ 93.79
Cazh genecated from operations 439375 472078
Lecs: & Income tax | 604 &2 365 .95
B Wealth tax 143 1,606 2% 018 &6 13
| Net cazh from operating actnibes - A 2,787 50 3,354 65 |
ASH FLOW FROM INVESTING A TE
l » Purchace of tangble fand aszets 3.303 &4 72478 l
b. Purchaze of intangible fised acsets 1030 2097
C. Increace in capital work-n-progress 423 2¢ 718.50
d. Cecreazelincrease) in mtangitle azzets under development 169
e Sdle of tangible fised azets 495
g. Interest recerved on bank and other deposnts 137 54

Please note, the Net cash from operating activities is computed after adjusting for income tax.
The net cash from operating activities is highlighted in green, and the capital expenditure is high-
lighted in red.

You may now have a fair point in your mind - When the idea is to calculate the future free cash
flow, why are we calculating the historical free cash flow? Well, the reason is simple, while work-
ing on the DCF model, we need to predict the future free cash flow. The best way to predict the fu-
ture free cash flow is by estimating the historical average free cash flow and then sequentially
growing the free cash flow by a certain rate.. This is a standard practice in the industry.

Now, by how much do we grow the free cash flow is the next big question? Well, the growth rate
you would assume should be as conservative as possible. | personally like to estimate the FCF for
at least 10 years. | do this by growing the cash flow at a certain rate for the first 5 years, and then |
factor in a lower rate for the next five years. If you are getting a little confused here, | would en-
courage you to go through the following step by step calculation for a better clarity.
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Step 1 - Estimate the average cash flow

As the first step, | estimate the average cash flow for the last 3 years for ARBL -
=209.7+262.99+(51.6) /3
=Rs.140.36 Crs

The reason for taking the average cash flow for the last 3 years is to ensure, we are averaging out
extreme cash flows, and also accounting for the cyclical nature of the business. For examplein
case of ARBL, the latest year cash flow is negative at Rs.51.6 Crs. Clearly this is not a true represen-
tation of ARBL’s cash flow, hence for this reason it is always advisable to take the average free
cash flow figures.

Step 2 - Identify the growth rate

Select a rate which you think is reasonable. This is the rate at which, the average cash flow will
grow going forward. | usually prefer to grow the FCF in 2 stages. The first stage deals with the first
5 years and the 2nd stage deals with the last 5 years. Specifically with reference to ARBL, | prefer
to use 18% for the first 5 years and around 10% for the next five years. If the company under con-
sideration is a mature company, that has grown to a certain size (as in a large cap company), |
would prefer to use a growth rate of 15% and 10% respectively. The idea here is to be as conserva-
tive as possible.

Step 3 - Estimate the future cash flows

We know the average cash flow for 2013 -14 is Rs.140.36 Crs. At 18% growth, the cash flow for the
year 2014 - 2015 is estimated to be -

=140.36 * (1+18%)

=Rs. 165.62 Crs.

The free cash flow for the year 2015 - 2016 is estimated to be -
165.2 * (1 +18%)

=Rs. 195.43 Crs.

So on and so forth. Here is a table that gives the detailed calculation...

zerodha.com/varsity


http://www.zerodha.com/varsity
http://www.zerodha.com/varsity

Estimate of future cash flow -

1 2014 - 15 18% 165.62
2 2015-16 18% 195.43
3 2016 - 17 18% 230.61
4 2017 -18 18% 272.12
5 2018 -19 18% 321.10
6 2019 -20 10% 353.21
7 2020 - 21 10% 388.53
8 2021 - 22 10% 427.38
9 2022 - 23 10% 470.11
10 2023 - 24 10% 517.12

With this, we now have a fair estimate of the future free cash flow. How reliable are these num-
bers you may ask. After all, predicting the free cash flow implies we are predicting the sales, ex-
penses, business cycles, and literally every aspect of the business. Well, the estimate of the future
cash flow is just that, it is an estimate. The trick here is to be as conservative as possible while as-
suming the free cash flow growth rate. We have assumed 18% and 10% growth rate for the future,
these are fairly conservative growth rate numbers for a well managed and growing company.

15.3 - The Terminal Value

We have tried to predict the future free cash flow for upto 10 years. But what would happen to the
company after the 10th year? Would it cease to exist? Well, it would not. A company is expected to
be a ‘going concern’ which continues to exist forever. This also means as long as the company ex-
ists, there is some amount of free cash being generated. However as companies mature, the rate
at which the free cash is generated starts to diminish.

The rate at which the free cash flow grows beyond 10 years (2024 onwards) is called the “Termi-
nal Growth Rate”. Usually the terminal growth rate is considered to be less than 5%. | personally
like to set this rate between 3-4%, and never beyond that.

zerodha.com/varsity


http://www.zerodha.com/varsity
http://www.zerodha.com/varsity

The “Terminal Value” is the sum of all the future free cash flow, beyond the 10th year, also called
the terminal year. To calculate the terminal value we just have to take the cash flow of the 10th
year and grow it at the terminal growth rate. However, the formula to do this is different as we are
calculating the value literally to infinity.

Terminal Value = FCF * (1 + Terminal Growth Rate) / (Discount Rate - Terminal growth rate)

Do note, the FCF used in the terminal value calculation is that of the 10th year. Let us calculate the
terminal value for ARBL considering a discount rate of 9% and terminal growth rate of 3.5%:

=517.12*(1+ 3.5%) / (9% - 3.5%)

= Rs.9731.25 Crs

15.4 - The Net Present Value (NPV)

We know the future free cash flow for the next 10 years and we also know the terminal value (which
is the future free cash flow of ARBL beyond the 10th year and upto infinity). We now need to find
out the value of these cash flows in today’s terms. As you may recall, this is the present value calcu-
lation. Once we find out the present value, we will add up these present values to estimate the net
present value (NPV) of ARBL.

We will assume the discount rate at 9%.

For example in 2015 - 16 (2 years from now) ARBL is expected to receive Rs.195.29 Crs. At 9% dis-
count rate the present value would be -

=195.29 / (1+9%)A2
= Rs.164.37 Crs

So here is how the present value of the future cash flows stack up -

1 2014 - 15 18% 165.62 151.94

2 2015-16 18% 195.29 164.37
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3 2016 - 17 18% 230.45 177.94
4 2017 -18 18% 271.93 192.72
5 2018-19 18% 320.88 208.63
6 2019 -20 10% 352.96 210.54
7 2020-21 10% 388.26 212.48
8 2021 -22 10% 427.09 214.43
9 2022 - 23 10% 470.11 216.55
10 2023 -24 10% 517.12 218.54
Net Present Value (NPV) of future free cash flows Rs.1968.14 Crs

Along with this, we also need to calculate the net present value for the terminal value, to calcu-
late this we simply discount the terminal value by discount rate -

=9731.25/(1+9%)"10
=Rs.4110.69 Crs

Therefore, the sum of the present values of the cash flows is = NPV of future free cash flows + PV
of terminal value

=1968.14 +4110.69
=Rs.6078.83 Crs

This means standing today and looking into the future, | expect ARBL to generate a total free cash
flow of Rs.6078.83 Crs all of which would belong to the shareholders of ARBL.

15.5 - The Share Price

We are now at the very last step of the DCF analysis. We will now calculate the share price of ARBL
based on the future free cash flow of the firm.

We now know the total free cash flow that ARBL is likely to generate. We also know the number of
shares outstanding in the markets. Dividing the total free cash flow by the total number of shares
would give us the per share price of ARBL.
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However before doing that we need to calculate the value of ‘Net Debt’ from the company’s bal-
ance sheet. Net debt is the current year total debt minus current year cash & cash balance.

Net Debt = Current Year Total Debt - Cash & Cash Balance
For ARBL this would be (based on FY14 Balance sheet) -

Net Debt =75.94 -294.5

= (Rs.218.6 Crs)

A negative sign indicates that the company has more cash than debt. This naturally has to be
added to the total present value of free cash flows.

=Rs.6078.83 Crs - (Rs. 218.6 Crs)
= Rs.6297.43 Crs

Dividing the above number by the total number of shares should give us the share price of the
company also called the intrinsic value of the company.

Share Price = Total Present Value of Free Cash flow / Total Number of shares

We know from ARBL’s annual report the total number of outstanding shares is 17.081 Crs. Hence
the intrinsic value or the per share value is -

= Rs.6297.43 Crs / 17.081 Crs
~ Rs.368 per share!

This in fact is the final output of the DCF model.

15.6 - Modeling Error & the intrinsic value band

The DCF model though quite scientific is built on a bunch of assumptions. Making assumptions,
especially in finance takes on an art form. You get better at it, as you progress through and gain
more experience. Hence for all practical purposes, it is advisable for us to assume (yet another as-
sumption) that we have made a few errors while making the intrinsic value calculation and hence
we should accommodate for modeling errors.
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A leeway for the modeling error simply allows us to be a flexible with the calculation of the per
share value. | personally prefer to add + 10% as an upper band and - 10% as the lower band for
what | perceive as the intrinsic value of the stock.

Applying that on our calculation -
Lower intrinsic value =368 * (1- 10%) = Rs. 331
Upper intrinsic value = Rs.405

Hence, instead of assuming Rs.368 as the fair value of the stock, | would now assume that the
stock is fairly valued between 331 and 405. This would be the intrinsic value band.

Now keeping this value in perspective, we check the market value of the stock. Based on its cur-
rent market price we conclude the following -

1. If the stock price is below the lower intrinsic value band, then we consider the stock to be
undervalued, hence one should look at buying the stock

2. If the stock price is within the intrinsic value band, then the stock is considered fairly val-
ued. While no fresh buy is advisable, one can continue to hold on to the stock if not for add-
ing more to the existing positions

3. If the stock price is above the higher intrinsic value band, the stock is considered overval-
ued. The investor can either book profits at these levels or continue to stay put. But should
certainly not buy at these levels.

Keeping these guidelines, we could check for the stock price of Amara Raja Batteries Limited as of
today (2nd Dec 2014). Here is a snapshot from the NSE’s website -

Amara Raja Batteries Limited

Serves €9

Smbol: AMARAJABAT W INDEEROADNNNY St Linted
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The stock is trading at Rs.726.70 per share! Way higher than the upper limit of the intrinsic value
band. Clearly buying the stock at these levels implies one is buying at extremely high valuations.

15.7 -Spotting buying opportunities

Long term investment and activities surrounding long term investing is like a slow moving loco-
motive train. Active trading on the other hand is like the fast bullet train. When long term value
opportunity is created, the opportunity lingers in the market for a while. It does not really disap-
pearin a hurry. For instance, we now know that Amara Raja Batteries Limited is overvalued at cur-
rent market price as it is trading way higher than the upper limit of the intrinsic value band. But
the scene was totally different a year ago. Recall based on FY 2013- 2014, ARBL’s intrinsic value
band is between Rs. 331 and Rs.405.

Here is the chart of ARBL -
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The blue highlight clearly shows that, the stock was comfortable trading within the band for al-
most 5 months! You could have bought the stock anytime during the year. After buying, all you
had to do was stay put for the returns to roll!

In fact this is the reason why they say — Bear markets create value. The whole of last year (2013)
the markets were bearish, creating valuable buying opportunities in quality stocks.
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15.8 - Conclusion

Over the last 3 chapters, we have looked at different aspects of equity research. As you may have
realized, equity research is simply the process of inspecting the company from three different per-
spectives (stages).

In stage 1, we looked at the qualitative aspects of the company. At this stage, we figured out who,
what, when, how, and why of the company. | consider this as an extremely crucial stage of equity
research. If something is not really convincing here, | do not proceed further. Remember markets
are an ocean of opportunities, so do not force yourself to commit on to an opportunity that does

not give you the right vibe.

| proceed to stage 2 only after  am 100% convinced with my findings in stage 1. Stage 2 is basi-
cally the application of the standard checklist, where we evaluate the performance of the com-
pany. The checklist that we have discussed is just my version, of what | think is a fairly good
checklist. | would encourage you to build your own checklist, but make sure you have a reason-
able logic while including each checklist item.

Assuming the company clears both stage 1 and 2 of equity research, | proceed to equity research
stage 3. In stage 3, we evaluate the intrinsic value of the stock and compare it with the market
value. If the stock is trading cheaper than the intrinsic value, then the stock is considered a good
buy. Else it is not.

When all the 3 stages align to your satisfaction, then you certainly would have the conviction to
own the stock. Once you buy, stay put, ignore the daily volatility (that is in fact the virtue of capi-
tal markets) and let the markets take its own course.

Please note, | have included a DCF Model on ARBL, which | have built on excel. You could down-
load this and use it as a calculator for other companies as well.
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Key takeaways from this chapter

1. The free cash flow (FCF) for the company is calculated by deducting the capital expendi-
tures from the net cash from operating activates

2. The free cash flow tracks the money left over for the investors
3. The latest year FCF is used to forecast the future year’s cash flow
4. The growth rate at which the FCF is grown has to be conservative

5. Terminal growth rate is the rate at which the company’s cash flow is supposed to grow be-
yond the terminal year

6. The terminal value is the value of the cash flow the company generates from the terminal
year upto infinity

7. The future cash flow including the terminal value has to be discounted back to today’s
value

8. The sum of all the discounted cash flows (including the terminal value) is the total net pre-
sent value of cash flows

9. From the total net present value of cash flows, the net debt has to be adjusted. Dividing
this by the total number of shares gives us the per share value of the company

10. One needs to accommodate for modeling errors by including a 10% band around the
share price

11. By including a 10% leeway we create a intrinsic value band

12. Stock trading below the range is considered a good buy, while the stock price above the
intrinsic value band is considered expensive

13. Wealth is created by long term ownership of undervalued stocks

14. Thus, the DCF analysis helps the investors to identify whether the current share price of
the company is justified or not.
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CHAPTER 8

The Finale

16.1 - The follies of DCF Analysis

In this concluding chapter, we will discuss a few important topics that could significantly impact
the way you make your investment decisions. In the previous chapter, we learnt about the intrin-
sic value calculation using the Discounted Cash Flow (DCF) analysis. The DCF method is probably
one of the most reliable methods available to evaluate the intrinsic value of a company’s stock.
However, the DCF method has its fair share of drawbacks which you need to be aware of. The DCF
model is only as good as the assumptions which are fed to it. If the assumptions used are incor-
rect, the fair value and stock price computation could be skewed.

1. DCF requires us to forecast - To begin with, the DCF model requires us to predict the fu-
ture cash flow and the business cycles. This is a challenge, let alone for a fundamental ana-
lyst but also for the top management of the company

2. Highly sensitive to the Terminal Growth rate - The DCF model is highly sensitive to the
terminal growth rate. A small change in the terminal growth rate would lead to a large differ-
ence in the final output i.e. the per share value. For instance in the ARBL case, we have as-
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sumed 3.5% as the terminal growth rate. At 3.5%, the share price is Rs.368/- but if we
change this to 4.0% (an increase of 50 basis points) the share price would change to Rs.394/-

3. Constant Updates - Once the model is built, the analyst needs to constantly modify and
align the model with new data (quarterly and yearly data) that comes in. Both the inputs
and the assumptions of the DCF model needs to be updated on a regular basis.

4. Long term focus - DCF is heavily focused on long term investing, and thus it does not of-
fer anything to investors who have a short term focus. (i.e. 1 year investment horizon)

Also, the DCF model may make you miss out on unusual opportunities as the model are based on
certain rigid parameters.

Having stated the above, the only way to overcome the drawbacks of the DCF Model is by being
as conservative as possible while making the assumptions. Some guidelines for the conservative

assumptions are -

1. FCF (Free Cash Flow) growth rate - The rate at which you grow the FCF year on year has
to be around 20%. Companies can barely sustain growing their free cash flow beyond 20%.
If a company is young and belongs to the high growth sector, then probably a little under
20% is justified, but no company deserves a FCF growth rate of over 20%

2. Number of years - This is a bit tricky, while longer the duration, the better it is. At the
same time longer the duration, there would be more room for errors. | generally prefer to
use a 10 year 2 stage DCF approach

3. 2 stage DCF valuation - It is always a good practice to split the DCF analysis into 2 stages
as demonstrated in the ARBL example in the previous chapter. As discussed ,In stage 1 |
would grow the FCF at a certain rate, and in stage 2 | would grow the FCF at a rate lower
than the one used in stage 1

4. Terminal Growth Rate - As | had mentioned earlier, the DCF model is highly sensitive to
the terminal growth rate. Simple thumb rule here - keep it as low as possible. | personally
prefer to keep it around 4% and never beyond it.

16.2 — Margin of Safety

Now, despite making some conservative assumptions things could still go wrong. How do you in-
sulate yourself against that? This is where the concept of ‘Margin of Safety’ would arrive. The mar-
gin of safety thought process was popularized by Benjamin Graham in his seminal book titled “In-
telligent Investor”. The ‘margin of safety’ simply suggests that an investor should buy stocks only
when it is available at a discount to the estimated intrinsic value calculation. Following the Mar-
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gin of Safety does not imply successful investments, but would provide a buffer for errors in calcu-
lation.

Here is how | exercise the ‘Margin of Safety’ principle in my own investment practice. Consider
the case of Amara Raja Batteries Limited; the intrinsic value estimate was around Rs.368/- per
share. Further we applied a 10% modeling error to create the intrinsic value band. The lower in-
trinsic value estimate was Rs.331/-. At Rs.331/- we are factoring in modeling errors. The Margin of
Safety advocates us to further discount the intrinsic value. | usually like to discount the intrinsic
value by another 30% at least.

But why should we discount it further? Aren’t we being extra conservative you may ask? Well, yes,
but this is the only way you can insulate yourself from the bad assumptions and bad luck. Think
about it, given all the fundamentals, if a stock looks attractive at Rs.100, then at Rs.70, you can be
certainitisindeed a good bet! This is in fact what the savvy value investors always practice.

Going back to the case of ARBL -

1. Intrinsic value is Rs.368/-
2. Accounting for modeling errors @10% the lower intrinsic band value is Rs.331/-

3. Discounting it further by another 30%, in order to accommodate for the margin of safety,
the intrinsic value would be around Rs.230/-

4, At 230/- 1 would be a buyer in this stock with great conviction

Of course, when quality stocks falls way below its intrinsic value they get picked up by value inves-
tors. Hence when the margin of safety is at play, you should consider buying it as soon as you

can. As a long term investor, sweet deals like this (as in a quality stock trading below its intrinsic
value) should not be missed.

Also, remember good stocks will be available at great discounts mostly in a bear market, when
people are extremely pessimistic about stocks. So make sure you have sufficient cash during bear
markets to go shopping!

16.3 - When to sell?

Throughout the module we have discussed about buying stocks. But what about selling? When
do we book profits? For instance assume you bought ARBL at around Rs.250 per share. It is now
trading close to Rs.730/- per share. This translates to an absolute return of 192%. A great rate of
return by any yardstick (considering the return is generated in over a year’s time). So does that
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mean you actually sell out this stock and book a profit? Well the decision to sell depends on the
disruption in investible grade attributes.

Disruption in investible grade attributes - Remember the decision to buy the stock does not
stem from the price at which the stock trades. Meaning, we do not buy ARBL just because it has
declined by 15%. We buy ARBL only because it qualifies through the rigor of the“investible grade
attributes”. If a stock does not showcase investible grade attributes we do not buy. Therefore go-
ing by that logic, we hold on to stocks as long as the investible grade attributes stays intact.

The company can continue to showcase the same attributes for years together. The point is, as
long as the attributes are intact, we stay invested in the stock. By virtue of these attributes the
stock price naturally increases, thereby creating wealth for you. The moment these attributes
shows signs of crumbling down, one can consider selling the stock.

16.4 - How many stocks in the portfolio?

The number of stocks that you need to own in your portfolio is often debated. While some say
holding many stocks help you diversify risk, others say holding far fewer helps you take concen-
trated bets which can potentially reap great rewards. Here is what some of the legendary inves-
tors have advised when it comes to the number of stocks in your portfolio -

Seth Kalrman - 10 to 15 stocks
Warren Buffet - 5 to 10 stocks
Ben Graham - 10 to 30 stocks
John Keynes - 2 to 3 stocks

In my own personal portfolio, | have about 13 stocks and at no point | would be comfortable own-
ing beyond 15 stocks. While it is hard to comment on what should be the minimum number of
stocks, | do believe there is no point owning a large number of stocks in your portfolio. When | say
large, | have a figure of over 20 in my mind.

16.5 - Final Conclusion

Over the last 16 chapters, we have learnt and discussed several topics related to the markets and
fundamental analysis. Perhaps it is now the right time to wrap up and leave you with a few last
points that | think are worth remembering -
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1. Be reasonable - Markets are volatile; it is the nature of the beast. However if you have
the patience to stay put, markets can reward you fairly well. When | say “reward you fairly
well” I have a CAGR of about 15-18% in mind. | personally think this is a fairly decent and re-
alistic expectation. Please don’t be swayed by abnormal returns like 50- 100% in the short
term, even if it is achievable it may not be sustainable

2. Long term approach - | have discussed this topic in chapter 2 as to why investors need
to have a long term approach. Remember, money compounds faster the longer you stay in-
vested

3. Look for investible grade attributes - Look for stocks that display investible grade at-
tributes and stay invested in them as long as these attributes last. Book profits when you
think the company no longer has these attributes

4, Respect Qualitative Research - Character is more important than numbers. Always look
atinvesting in companies whose promoters exhibit good character

5. Cut the noise, apply the checklist - No matter how much the analyst on TV/newspaper
brags about a certain company don’t fall prey to it. You have a checklist, just apply the same
to see if it makes any sense

6. Respect the margin of safety - As this literally works like a safety net against bad luck

7.1PO’s - Avoid buying into IPOs. IPOs are usually overpriced. However if you were com-
pelled to buy into an IPO then analyze the IPO in the same 3 stage equity research methodol-

ogy

8. Continued Learning - Understanding markets requires a lifetime effort. Always look at
learning new things and exploring your knowledge base.

| would like to leave you with 4 book recommendations that | think will help you develop a great
investment mindset.

a.The Essays of Warren Buffet : Lessons for Investors & Managers
b.The Little Book that Beats the Market - By Joel Greenblatt
c.The Little Book of Valuations - By Aswath Damodaran

d.The Little Book that Builds Wealth — By Pat Dorsey

So friends, with these points | would like to close this module on Fundamental Analysis. | hope
you enjoyed reading this as much as | enjoyed writing it.
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